1. A remedy for all discase is called :
(1) Philanthropy
(2) Ontology
(3) Panacea
(4) None of the above

2. NASA is a new word formed from the initial letters of other words. This is called :

(1) Acronym

(2) Synonym

(3) Homophone

(4) None of the above

3. The distinctive, minimal sound unit of a language is called :
(1) Phoneme
(2) Morpheme
(3) Sememe
(4) Lexeme

4. A number of words in any language are onomatopoeic, i.e., these words :
(1) have divine source
(2) echo natural sounds
(3) can't be articulated
(4) None of the above

5. He walks in sleep. Heis a:
(1) Cartographer
(2) Somnambulist
- (3) Cannibal
4) Photographér

6. Choose the correct spelling :
(1) Affidavit
(2) Affedavit
(3) Affidevit
“(4) None of the above

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(A) Y- ©LPT. O

Scanned with CamScanner



10.

11.

LBHJ-E

What is the meaning of 'prima facic' 7
(1) After death

(2) An abstract

(3) At first right

(4) None of the above

The four basic language skills are :

(1) Listening, speaking, reading and writing

(2) Speaking, understanding, reading and writing
(3) Drawing, speaking, reading and writing

(4) None of the above

There is a non-finite verb in the following sentence :

I stayed up all night to finish my work. This 'non-finite' verb is :
(1) a gerund

(2) Present Participle

(3) Infinitive

(4) Past Participle

In the following sentence 'Alice became a successful writer', the verb 'became’ is :

(1) a Non-Finite verb
(2) aLinking verb
(3) a Complement
(4) None of the above

Choose the participle phrase in the following sentence :

'The houses located on the flood plain suffered extensive damage.
(1) The houses located on the flood plain |
(2) Suffered

(3) Extensive damage

(4) None of the above
E-2021/(Law Three Year)/(SET-Y)/(A)
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12.

13.

14.

15.

16.

Which of the following sentence is nof grammatically correct ?

(1) The courtroom bailiff says, "All rise !"

(2) Ifyou get the yeast right, the dough will always rise
(3) The sun rises in the cast

(4) None of the above

Choose the gerund phrase in the following sentence :

'Answering my e-mail always seems to take all morning.
(1) answering my e-mail

(2) always

(3) seems to take

(4) all morning

Time and tide ..... P for none.
(1) wait

(2) waits

(3) are waiting

(4) None of the above

Choose the option having adverb clause :
(1) The problem is that our creek floods.
(2) Whenever it rains, our creek runs over.
(3) The creek that runs by our house floods.
(4) None of the above

'Uneasy lies the head that wears a crown.' In the above sentence 'that wears a crown' is :

(1) a Noun clause
(2) an Adverb clause

. (3) an Adjective clause

(4) None of the above

- LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(A)
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17, 'He stood his ground against his adversary.' In this sentence 'stood his ground' means : -
(1) inthe secret
(2) maintained his position
(3) behaving arrogantly
(4) None of the above

18, Who broke the jug ? In this sentence 'the jug' is
(1) u Subject Complement
(2) Direet Object
(3) Indirect Object
(4) Verb

19. A simple sentence has :
(1) One Vinite Verb
(2) 'I'wo Finite Verbs
(3) Any number of Finite Verbs
(4) Three Finite Verbs

20. 'Scarch the pockets and you will find the watch.' Thisisa............ sentence.
(1) Simple
(2) Complex
(3) Compound
(4) Nonc of the above

21, He prayeth best .............. loveth best,
(1) whose
(2) who
(3) whom
(4) None of the above

22: | cricrsiverns the better before he ....ovvenenn :
(1) had written, arrived
(2) has written, had arrived
(3) am writing, has arrived
(4) None of the above

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(A)
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23. The Nobel Prize in Literature 2020 was awarded to ,........

(1) Peter Handke

(2) Jean Paul Sartre
(3) Louise Gluck

(4) Nonc of the above

24, lvisited .............. school for Parent-Teacher Mect.
(1) a
(2) an
(3) the
(4) None

25. The population of London is ............. any city in India.
(1) greater than
(2) less than
(3) greater than that of
(4) None of the above

126, FHF-H T A gerder aRT a7
C (1) TEfE '

- (2) HEET

(3) THERTHEEE

(4) I\ qaas

------ .

27. wHYMH, J9H, JHEE, &9 R Iu fRY dree gry e § 7

(1) FH=rgaT

(2) *fr7 @B

(3) g=mE=AE. gat
4) IvEr=

28. W,Wm,wﬁﬁwﬁm%ﬂawmﬁﬁ%?

(1) THFHR A1
- (2) AT T

(3) STa%iHT TAE

(4) ST 319k
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29. FF-H IFAT ARG T4 B8R @ ¥ ?
(1) ¥R AR
(2) e
O ESIRIE
(4) -y

30. HH-T @AT BEAEE] Hig TIAHT TEE ERT o & 7
(1) T AR
(2) HETIA
(3) Tf~e=h
(4) SrHETT

31. frear, Jdd TR, SEw W SN SR e Y ® s8R e 6 7
(1) ARTICT STHAA
(2) sRya= a#t '
(3) ghEm=— 9q
(4) g BuEl ‘R
32. ara@,ﬂﬁm,mﬁamaﬁ%wﬁmwww%?
(1) e A
(2) gHT PR
(3) war ga B
(4) GagaREa FEFaHT

33. ‘gedRTeRTEr HEh fha HE-@vs § W AR 7
(1) e :
- (2) wifRTERE
(3) Tt
(4) MY Bt
34. Prefifag § § g & 3 § FH-a1 9% gE 8 7
(1) ==t
(2) e
(3) wHl
(4) #iw=h
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35.

36.

37.

38.

39.

40.

PRl § @ ade @ afte @ H-ar o= g 87

(1) F=r=

(2) ==

(3) ==

4) ==

Frefoifag & @ ad= & gftc § HT-91 = IS 8 7
(1) emefa=

(2) srfimaix

(3) sneffa

(4) anshaix

‘HqraT-fer & HE-97 9HE © 7
(1) FHIRT FHE

(2) f&g |9 e

(3) &= 9

(4) TIEY qHE

By | fE-ar a9 8 7
(1) f&7 9= e

(2) Jgdle |

(3) STTIHAE H1H

(4) FHEFT |HE

‘A’ @ gieg-fams | e ?
() a4qr + a4 :
(2) 99 + =

(3) gua + I

(4) qUT: + 39

‘Gﬁ%a-?rs%w(’amzrfﬂ%%qa—aaﬁmamaﬁ:

(OREEIS

(2) Frfar
(3) forehifemT
(4) forgem
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42,

43.

44,

45.

‘e urh afer, fasy gef e T |
arft o s Y AR Y "J,.%“”
dfaerdt # @r-ar srdme B o7 |

(1) 3ymr

(2) zver

(3) @

(4) ey

‘BTl TT WY @ quEt g Al ad b .

(1) Afg @ Frese g

(2) et & gaaeii
(3) =t A st
4) F=ifa =

Freaferfeaa & & -1 g2 ‘Fwer’ & qurnds T8 % 7
(1) g

(2) aferr

(3) ortfa=

(4) deaT

Frer & @ ‘afqaar’ @ faudards =z 77

(1) sTrpd=

(2) TRt

(3) AARHA

(4) =TT

el @t Al 1 gum Aehe ‘TE-mard’ Ga wfa @ = R o7
(1) 9Rag eRe=a=

(2) #eER A fEddr

(3) FTELHT AT
(4) orarenr Rig Suraam ‘eftehy’
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46. Rustum while entering into compartment of a train raised his fist in anger towards 4
‘ person Sheetal, just in front of him in the row, to gel way to enter into the train first,
but did not hit him.,
Rustum has :
" (1) Insulted Sheetal
(2) Rightly showed his anger
(3) Committed an assault on Sheetal
(4) Not committed an assault on Sheetal
39 B RE ¥ yaw FHa 999 &H A T A
T8 S, S IEH ama U § e, dife 98
- 3q TE AR '
& A
(1) sfider &1 *TIEE fRar
(2) ST9T e wE R
(3) <A 9x sHar Thar
(4) o 9X sHaT el f&an

47. In the course of a discussion, 'A' threw a file of papers at the table which touched the
hands of 'B'. :
(1) 'A' is liable for insulting 'B'
(2) 'A' is not liable for his act, as it was of trivial nature
(3) 'A'is liable for his act, as the file touched 'B's hand
(4) 'A' is liable for his act, as it assaulted 'B'
w Tl $ AR ‘T A qA U FEEI B TH BT G 4 o Ay & el B
gl 9T ,
(1) ‘@ ‘dr 1 JIAE L B ¢ IOEET B
(2) ‘T 9 FA F g IR FE 7, HiH T8 JEB TH B Al
(3) ‘@ A Fd B R ITRaE B, 9% wra A B ey @ o 8
(4) ‘@ @99 P % fow STREE 8, e IR Y 9x wwen fwar o
48. "7’ going on a joumncy, entrusts his plate to the possession of 'A', the keeper of a
warchouse, till 'Z' shall rcturn. Then, ‘A’ carrics the plate to a goldsmith and sells it.
(1) 'A" has committed theft
(2) 'A' has not committed theft
(3) A’ lawfully sold the plate to the goldsmith
(4) None of the above is true
LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(A)
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a.;]rf,' e HIH0 g4 [ TR ‘,33’, ,—,]rp‘h 17?]75 ;ﬁl oyt '73:; Fﬁa"-f[ ft 7-"‘11 :;irﬂ, 5, g %
v & Py ’

[FI'. ';;Tf’;"'ﬂ"HI il s e | -
S TG T

(1) " 51 andy 5y ®

(2) " A ol A R
(3) ‘0’ 9 oar i) :—;;|:l_r';ﬁ wOH el Ay &
() S i q A ey s

»

-

%2, ‘' @ Ay g g & o A omen @ @

49, 'A', Soldier fires on

: # mob by the order of his superior officer, in conformity with the
commands ol the |

. s 4 .
aw. "B is Killed due o such firing, Is ‘A’ guilty of murder ?

(1) Yeu, he should have taken care to avoid any innocent person from being killed
(2) No, he is bound by law 1o do it

(3) Yes, as he has killed a person

(4) The superior officer is puilty

W, A s Al sifasmrl & aRer A, FweE B Rt 3 eHmT e g7
Ml garen B A U WelET B wreor wm smEr T T ‘W T F ST
w7

(1) &1, 3D g0 4w &0 o9 waen =ifen or @ fd d Peg ot @ sar o
B

(2) =1, aw 0w H F o BEH BT a= B

(3) &1, #F4ffs I e1fay Hr | =@

(4) afva aifeeprfy <t &

50. ‘A’ obtains the consent o 'B' to enter into an agreement by an act amounting to criminal
intimidation under the Indian Penal Code. 'A' brings a case against 'B' for performance
ol agrcement.

(1) 'A' will succeed in the case

(2) 'A" may succeed in the case

(3) 'B' will succeed in the case

(4) 'B' will not succeed in the case

‘@' w23 dfedr & dsd ouIfYes ewer H O & o At g s
TER & 999 B & R Y @ weafa o FET 2 ‘Y s & Mo
& R A B Raems AW A 2

(1) ‘@ #mHer H g6 e

(2) ‘@ A F G 8 T 8

(3) ‘& "me # g e

(4) ‘@ "R ¥ @A S B
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51.

52.

53.

11

'A' makes an attempt to steal some jewels for breaking open a box, and after so opening

the box, finds that there is no jewel in it

(1) 'A' has committed no offence

(2) 'A’ has committed the olfence of stealing

(3) 'A" has atlempted to commit the offence of stealing

(4) None of the above
‘q'wmﬁﬁsﬁ%m@ﬂaﬁ@%wmm%eﬁmm

J dfeg @R B 9, 9T 2 B IaH HIg el A8l ©
(1) ‘@ F HE ooy TE Rear @

2) ‘@ J = B ST fhar ®
(3)‘q’%a’fﬁaﬁramuaﬂ%wmﬁ?m%

(4) SUART H  Hg 7L

'A' writes a letter to 'B' in which he uses abusive language against 'B'
'B' is a dishonest person. 'A' put the letter in a sealed envelope and delivered it to 'B'.

(1) 'A" has committed defamation

(2) 'A' has not committed moral wrong
(3) 'A' has not committed defamation
(4) 'A’ has committed a moral wrong

‘v’ ‘Eﬁ’ﬂﬁﬁﬁm%ﬁﬂﬁaﬁ‘@’%wammwmm
m%aﬁ?uaﬂﬂam%ﬁs‘aﬂ’qzﬁas‘qﬁmﬁa%wq’ﬁwaﬁ@
Wmﬁmmaﬁ?tﬂ?{‘@’iﬁrﬁqml

(1) ‘@ I AT &8 :

(2) ‘@ T AR o TEH AT ©

(3) ‘@ 7 FEly TE H e
4) ‘@ 7 s o AT ©
'T" just walked over the land of
displayed a notice that it is not a thoroughfare. P’
(1) 'T" has not committed any trcspass on the land P’
(2) "T" has violated privacy ol 'P"

(3) "T* has committed trespass to land

(4) 'T" has created nuisance for 'P' -
‘ﬂ’aﬁmq@%%m‘ﬁ’ﬁﬁﬁwaﬁ%mﬁﬁs%@@am
Wl‘ﬂ'%@q‘rﬁﬁwﬁiﬁﬁﬁmmﬁﬁwaﬁém%ﬁ%l‘tﬁ'%-aiﬁrzs‘r
B JeHarT T qgam |

(U‘ﬂ'%@‘tﬁ’waﬁéaﬁaﬁﬂﬁﬁwé

Q) @ J @y 9% ToET B SeET fhAT 8
(3)‘??r’9r=1ﬁrtrreﬁ%ﬁrrrﬁm%

@) @ F «§ & R Susa Ja7 AT ®

and also states that

'P' to reach his house as it was a short cut. 'P' had
did not cause any damage to the land.

P.T. O.
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54, 'B' was formally invited by 'A' to s house, "B aler slttng for some Uitte fn drawiing
raom. moved to the bedroom ol the house, 'A' sied 13 Toe [resuss,
(D) "B has oftended 'A by moving o bedroom
(2) "B"has interfered with privacy of'A!
(3) "B" has commitied trespass us there was no consent of ‘A" for entry i bdroon
(4) "B" has committed no teespass us he entered the house with 'A's consont
AW MR WA wrg awd e g aiile R o s B
WOEET WA YA D A owe H Awewr § oo o o) A olfeEre bl
L S St B Rl R
(1) =M Agwd A Swpy @@ =i e R @
(2) | A @ oA Mot s R ¥
3) S X otRrar R ¥ aais Awe A gdw @ R ol g aeler wé

oft
@) S X DS o @ Rear ¥ oaeliiy oo oo geafe 8w 1 ouaa
B 1}

55. 'P' was wronglully prevented by the Returning Olficer from exereising his vote in an
assembly election, However, the candidate tor swhom he wanted to caste his vote won
the election. Still. he (P) brought an action claiming damoges. Which ol the following
derivatons is correet ?

(1) 'P" would succeed in his action, as it is mandatory to cnst vote,
7Y 'P' would not succeed in his action, as the candidute for whom he wanted 1o give
( . p
his vote won (he election, :
(3) 'P' would not succeed in his action, as he did not suller nny loss in that ¢leetion.

(4) 'P' would succeed in his action, as he was wreonglully prevented from exercising hiy
legal right ol voting in that election, k
wep FReErEr g o 'lﬂ" e J\'ﬁ'ﬂfl’?f'*l‘ \mfﬂwui 1 A e ol S ET) CL I e I
T O A Qe wr ) erEi, B c;xﬂ*l\]gqti O R e G't""",‘cn‘f AC R
T, I8 g:.n'q CIRERILIE e o), I (“n &ol|9) hl QI e BU U "h'l'{'fl(‘;

! : SN - S S ISR
21 Preriree § A @l skl @ @
(1) ‘@ ara et T awe NRE VRAET G ot R
" \- - s -y TIT ) “:‘ :\—l =1 Soan o\, .

(2) ot srdend A wwe adlodvn, Rl Rt sefiadie & R gn o

dre T @rer o aw gEE Sl e

) T Yoo SdE B, SR S e W oagy e

3) @ ot arbard W aner ST R e ot oy g ST

el ga el |
(@) ol adend A ahd e, R 90 S e iy

WA & o
il AR T WA ) A e AOR A Qe gy oy Cah an)
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Jeevan and Pavan were neighbors in a residential locality, Pavan started a typing class

in a part of his house and his typing sound disturbed Jeevan who could not put up with

any kind of continuous noise, He filed a suit against Pavan.

(1) Pavan is liable, because he should not have started typing class in his house

(2) Pavan is liable, because as a neighbor, he should have realized Jecvan's delicate
nature

- (3) Pavan is not liable, because typing sound did not disturb anyone clse other than
Jeevan

(4) None of the above

ST TR wae us Remselt sard § usrl &) gaq 3 9 R} $ U e A

SR RE & & oM IEe el & ot X Sfad 1 wen BT fe

ST 6 ot 9RE @1 @R SR |@ed \Et &} gl °T | 394 gad & e

HHaHT X fhar or )

(1) 997 STRemE 3, =i I8 ot X F efiT o gE qel Al Ay
o

(2) 999 IAEE B, F9ih U gsieht & w9 A, aﬁcﬂaﬁ%ﬂ@aﬁwzﬂ
Tedrd BT AM8T oy

(3) a9 STl g1 B, wifes it @ X Siad & ST fREr T &
Qe Het fehar

(4) S9UaT & q I T81

97. 'A' purchased a car from a person who had no title to it and had sent it to a garage for
repair, ‘X', believing, wrongly, that the car was his, removed it from garage.
(1) X' can be held responsible for trespass to goods
(2) 'X' cannot be held responsible for trespass to good as he was under a wrong belief
(3) 'X" has not committed any wrong
(4) None of the above
‘T T UH U AR 4 ThH HR G, ﬁﬂ%wmﬁésﬂﬁzﬁaﬁ 3R
§H AT & R MRS A AT e, ‘T’ 4% AW gy, % &R 9w oY, od
R | g Ram
(1) ‘T’ &t 71 & AR B [T Beder ssxmr o7 gear @
(2) ‘TR B AW F Y SRER F R Redtar w1t sewan s awar w9is
g€ I 9RO & ded of

(3) ‘CFT’ 9 HE T & T ®
(4) Ui F @ HE =S
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ced to buy it

58. 'A’made a proposal to sell his motoreycle to 'B' for rupees 25,000, B’ agr /
. ‘A for

damages.

(1) 'B' will get the difference of rupees 1,000 only
(2) 'B' will not get any damages from 'A’ |
(3) 'B' will get damages from 'A'
(4) 'B' can proceed against 'C' .
T O HrexaEiea G @ 25,000 s9F 7 = @ gwE @ ‘ET"F‘?‘T
24,000 T ¥ wleN F Riq dena & war @ A o et STel HIETHIRIBT
@ A 26,000 T F g ) A B B R @ O TR BT B
(1) &’ @t daer 1,000 59 &1 3fax e
(2) GV @ ‘W q AT T8t e
(3) @ W ‘T A BT e
@) & A F Rawrs o g wwar
59. While taking a life insurance policy, in reply to questions by the insurance company
during the inquiry into his proposal, Zameer dcliberately conccaled the fact of his
medical treatment for a serious ailment, which he had undergone only a few weeks ago.
(1) The concealment of fact by Zameer amounted to fraud
(2) The act of Zameer amounted to innocent misrepresentation
(3) The act of Zamcer did not amount lo any misrepresentation
(4) The act of Zameer did not amount to fraud, as disclosing the fact would have

resulted in exposure of his privacy
e T offert @ @Ed, @ 9 B ST S @ Sty @ drae
mﬁ%wﬁ,ﬁ%w#ﬁ?aﬁmﬁ%maﬁﬁmw%w
aﬁmaqmgqm,ﬁiﬁaﬂ?fﬁwwmamm,
(I)Wmawngﬂeh@u@aﬁum%
(2)wﬁrzﬁr@mﬁ1ﬁunﬁmmﬁﬁww
(3)Wmmerﬂwmwﬂ%awmﬁuT
(4) srfrz a1 varagy @ Al i il suar A, w0 qey oy o
w3 T aEd MuEkar & o oYl
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'60. 'A' promiscs to pay 5,000 rupees to 'B' on the condition that he shall marry with the

consent ol 'C', 'D" and 'E'. 'B' marries without the consent of 'C', 'ID' and 'I¥', but obtains
their consent afler the marriage. '
(1) 'B" has not fulfilled the condition
(2) 'B' has fulfilled the condition
(3) 'B's marriage is not valid
(4) The condition is illegal
‘@ ST B/ 5,000 FYF W/ OYIRIE BT P AT B ¥, g i 9T fb aw
A, WSl @ W weER @ AR wom Ay, v, v ok @ @ e
& QAT o e R, AR ) & are S @Ak o et €
(1) & 3 ot g =t 7 B
(2) N T e g AW B
(3) &V = fFare. Qg T ©
(4) gt o7y B

61. A horse was bought for a certain price coupled with a promise to give 500 rupces more
if the horse proved lucky.
(1) This is a valid agrecment
(2) This agreement is void for uncertainty because it is very difficult to determine what
luck, bad or good, the horse had bought to the buyer.

(3) The agreement is partially valid and partially void

(4) Nonc of the above
wh G2 @ O FREd @md OX el T oo X |y & 98 grar A

oT fF ST BYST WIGeeN @ifed geT o 500 Hud 31fyen 3
(1) 98 o Jy Fasian 8
@) @& TFear sfEREaa & R g @ HiE aw FaiRa s g giewa
3 fp @iiea H F7 9G8R IET €18 # =T 91 e wlE
(3) wehan ofifer wa & Jer ofi oTilReh T A LA §
(4) SudeT & q Frg TG
62. 'X' made an offer to buy 'Y's property for a stipulated price. "Y' accepted it and
communicated his acceptance to 'Z', a stranger.
(1) Y's agreement resulted in an agreement
(2) Y's acceptance did not result in any agreement
(3) Y's acceptance resulted in a contract
(4) Y's acceptance resulted in a promisc

'LBHJ-EE-2021/(Law Three Yecar)/(SET-Y)/(A) P.T.O.
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o I BT S e —
151K zf{ ferar v o srelt 7 4 argeh i <6l e 4
("Y' & RN & yftorremy ug TGN BT

] 1 = - =
(2) 'Y" = whEfr B gy g wehar wdf gan
1 ' e
3) 'Y F TR & aRmrrersy sy TaTr
IV = =
@)Y @ =PRT & aRemrErE v g worr
63. ' ! E ~ L T4 J ’ i i i
(ﬁ‘;écboy of 16 years of age, agrees 1o buy a camera from 'B', who is a girl ol 21 ycars
Which of the following derivations is correct ?
(1) ,Ilhcrc arises a contract between 'A' and 'B' to sell/but the camera in question
(2) There arises an enforceable agreement between 'A' and 'B' 1o sell/but the camera in

question

(3) lhcro: does not arise a contract between 'A' and 'B' to scll/but the camera in
question

(4) 'l'hcrc_: ariscs a voidable contract between 'A' and 'B' to sell/but the camcra in
qucstion

o’ l6aﬁmq€5m, 'ﬁ’ﬁ%m@ﬂaﬁ%ﬁmaqaqa;ﬁm% Gﬁ@;zl

g #r Trsar B ?

F=ferfaa & 4 @0 ogafr gdr § ?

(1) ‘q'e?ﬁ‘ﬁr’%aﬁaéa%f&sﬁmﬁmﬁamﬁﬁ%qv%aﬁamaﬂﬁu

) ‘@ &l A & dm am R At e S 3 S oo o

(3) ‘q»m;a,%mm%mmmmmaw@a@q
TE B @

@) ‘@ A dr F d= aEn B A Emds dvv $ S o
Rl eTgEe S e 8 |

64. Sunita, while her husband Shankar was alive, promised to marry Neel in the event of

Shankar's death. Subscquently, Shankar died, but Sunita refused to marry Neel., Neel

sues Sunita for damages for breach of promise.

(1) Sunita is liable as she is bound to marry Neel

(2) She is liable to compensate Neel for breach of promise

(3) Neel can marry someonc else
(4) She is not liable as the contract is opposed to public policy and so void

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(A)
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gilar 3 o i QiR & Sfifda ted gu gk @ g @ Refy & e @
fare &\ & 999 Rar| 396 =, ?I%{Eﬁ‘j_(ﬂ@f.rré SfepT grtar A A

q M A H TR FH Ram) e ¥ ar B Iwoed B Rig gl @ ee
H1 JehaAT fHAT |
(1) girr Saxart 8 %ifh g8 fra @ 9 &7 & R arem B
(2) & 9% & e H R Aid B aRgRt wE S R geEr ¥
(3) et el SR &§ ol H Tewar B -
(4) a8 STRER T ¥ wifs ey adete A @ e § ¥ ok gaR
LTI
65. If Parliament enacts a legislation prohibiting strikes by trade unions of employces
engaged in pharmaceutical industry, then :
(1) The legislation would not violate the right to freedom of association

(2) The legislation would curtail the right of trade unions to strike, and therefore
violate freedom of association \

(3) Since strike is only one of the objectives with which a trade union is formed, right
to strike is not protected by the right to freedom of association

(4) None of the above
‘uﬁwmmﬁgﬁwa@ﬂﬁaﬁqﬁaﬂtﬁaﬁiggﬁmﬁmmzﬁ

gfesifRa 3 @i &g a9l 8, df

(I)Wwﬁm%aﬁwwaﬁmﬂﬁm

(Z)Wa—éqﬁ?ﬁr%waﬂﬁ%aﬁwaﬁzﬁqaﬁm -3t zafg |9
F WAl Bl e

(3) Sf% ssaE daw TH Ieed © R G TS gET @ oA fear @ R,
sSale & AIHE T & WA & BN ERT AR & &

(4) SuEa § & FIE T8l |

66. Which state has launched the COVID-19 affected Livelihood Scheme ?

(1) Assam -

(2) Haryana

(3) Manipur

(4) Bihar
%HW%COVIDWHW%HGT@%EH@W@@@% ?

(1) e84
(2) AT
(3) APIYR
4) =R

LBHJ-EE-2021/(Law Three Year)/((SET-Y)/(A) P.T.O.
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67. The State
city ?
(1) Shillong
(2) Guwahati
(3) Srinagar
(4) Kohima

wn?ﬂqézi‘izﬁ(sm)%graﬁffﬁmsmﬁwm@tﬂ@mw
JTHeH Ay ?

(1) R
(2) TarerdY
(3) R
(4) =hifeHT

68. Who authored the book titled 'A Begum and A Rani' ?
(1) Mukand Sejwal
(2) Girish Kajval
(3) Chetan Bhagat
(4) Rudrangshu Mukherjee
‘¢ T ds T TE TS JKIH D a@s B § 7
(1) ghe FeTa
)RR EISEIS
(3) BT WA
(4) BafTy et |
69. Who has won a Gold medal for India in the javelin throw event at Tokyo Olympics ?
(1) Bajrang Punia
(2) Saina Nehwal
(3) Neeraj Chopra
(4) P. V. Sindhu
aﬂ@ﬁmﬁw%ﬁwﬁﬁw%ﬁmwﬁwﬁmﬁcﬁm%?
(1) =TT giar
(2) g AEdrT
(3) =T =T
(4) Glo dlo Ry
LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(A)
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70.  Which Indian wrestler has won the Olympic wrestling bronze medal in 2021 ?
(1) Bajrang Punia
(2) Vinesh Phaugat
(3) Ravi Dahiya
(4) Yogeshwar Dutt
RFE el geera A 2021 § ofwifues gecht H Hied gewh Sfier 7
(1) s=131 gfsEn
(2) faRisT ®TE
(3) i =fear
(4) ANIER &

71. Who is the first woman pilot of India ?
(1) Secma Deswal
(2) Sarla Thukral
(3) Gehna Vashisht
(4) Asha Mathur
qIRA N gse A qrEwE B € 7
(1) €= I9aret
(2) 9T GHAAA
(3) BT giRrS
(4) M ATYR
72. Mamata Banerjee has been sworn in how many times as the Chief Minister of West
Bengal ?
(1) Second
(2) First
(3) Third
(4) Fourth
ToEr g 3 o SR af¥eH S A gl & w9 § ey off B 7
(1) &
(2) =%
(3) ©=
(4) =X

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(A) = . . P.T. O.
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73. Which party has won majority seats in the Puducherry Assembly Election, 2021 ?
(1) BJp

(2) LIP
(3) AINRC

H fpe adt ¥ ggAa @i Sl € 7
(1) <5

74. Under which Article of the Constitution of India the President has the power of pardon
Or remission ?

(1) Article 72

(2) Article 71

(3) Article 76

(4) Article 74

(1) 61333372
(2) arg=sT 71
(3) STT=|F 76
(4) ST7=8% 74

75. What is the serving term of the members of Rajya Sabha ?

(1) 4 years
(2) 5 years
(3) 6 yéars
(4) 7 years
Wﬂm%mﬂweﬁﬁw%?

() 4 9

(2) 5 AT
(3) 6 AT
4) 7 @

LBHJ-EE-2021/(Law Three Year)/(SET-Y)I(A)
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76, Comttution of ndla was ndopted by constituent assembly on ;
(1) 25 Junuary, 1948
(2) 25 Junuary, 1949
(3) 26 January, 1950
() 26 January, 1949
et & dlerr ay dfaer goar srer s g an
(1) 25 oserd), 19448
(2) 25 o1s(ad), 1949
(3) 26 518y, 1950
(4) 26 5151rdd, 1949
77, Which city hus been named as the world's safest city from among 60 global cities, in
Safe Cities Index, 2021 ¢
(1) London
(2) Copenhagen
(3) Rome
(4) Budapest
A6 ferdior ¢, 2021 7 60 Afvaw gedt o A @0 gweT # ogfr Foaaq
gfarr erex & @y A snfren @ o B o7
(1) wlest
(2) DT
(3) O
(4) gonE
78. Panjshir Valley is situated in which Country ?
(1) India
(2) Pakistan
(3) Iran

(4) Afghanistan
dorgfie ardl fpa &ar 3 R B 7

(1) AT
(2) wfpw=
(3) g
(4) srHEmFTRTT
LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(A) ' P.T.O.
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, ) v shift
79.  Which Country has approved a three-child policy and has marked a major policy shi

to prevent a steep decline in the birth rate in the Country ?
(1) China

(2) Japan
(3) Germany
(4) Usa

fFa et ¥ 9
P B R

(1) ==

(2) Sa=
(3) ST
4) A=

I AR FY A & ¥ i 2w F o a3 H WG ARG &
S MgE A axae fafera fear @ £ 7

80. Anatomy is a branch of Science which deals with :

(1) Structure of animals and plants

(2) Functioning of body organs

(3) Animal behaviour

(4) Cells and tissues

TATETH s @t ueh emran ® o deEfe ®
(1) STHERT o) gl &t |@=en

(2) TR & I FH HEAYOTI

(3) 9g] =FFER

(4) FIEERRT TR Fx®

81. The energy of food is measured in :
(1) Calories
(2) Celsius
(3) Kelvin
(4) None of the above
AT S AT B AT AT ®
(1) e =
(2) afeaza |
(3) Bieaa A
(4) S9deT H A Hi A et

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(A)
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82. Who discovered that plants have life ?
(1) Edward Jenner
(2) J. C. Bosc
(3) Louis Pasteur
'(4) Darwin
gqraf o sftasr at @ g =) 7
(1) Te=g SY
(2) Ho o Y
(3) g wie=rR
(4) =i

83. Which of the following is not a primary colour ?
(1) Red
(2) Green
(3) Blue
(4) Yellow
= & § FiF-ar grafes 1 78 8 7
(1) <mret
(2) &0
(3) fiem
(4) dre

84. A person having AB'-group of blood can donate blood to a person having :

(1) AB-group

(2) A-group

(3) B-group

(4) O-group
qaﬁ-gqmmamwﬁﬁwmﬁmﬁaﬁﬁﬁwmm%
(1) wer-age

(2) g%

(3) =r-wge

(4) on-we

LBHJ.EE-2021/(Law Three Year)/(SET-Y)/(A) P.T.O.

Scanned with CamScanner



24

85. From which part of Opium
(1) Fruit
(2) Bark
(3) Stem
(4) Leaves

W%ﬁ&%%ﬁwﬁaﬁmﬁqmaﬂ%?
(1) w1

(2) TesTemT
(3) =
(4) 9frat

86. The acid stored in batteries is :
(1) Nitric Acid
(2) Sulfuric Acid
(3) Hydrochloric Acid
(4) Citric Acid
Jefat ¥ dufeq o T -
(1) zfes cfys
(2) G T
(3) BEFERIRG QRrs
(4) fafze ofs
87. Normal blood pressure of man is :
(1) 85/129 mm/Hg
(2) 80/120 mm/Hg
(3) 70/120 mm/Hg
(4) 90/130 mm/Hg
A 1 AHFY TEREM §
(1) 85/129 it /=t
(2) 80/120 it /=t
(3) 70/120 frt /et
(4) 90/130 Pt /T=rH

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(A)

plant we get morphine ?

Scanned with CamScanner



A

88. Who was the founder of the Pala Dynasty of Bengal ?

88.

90.

(1) Dharmpala

(2) Gopala

(3) Mahendrapala

(4) Mahipala

A H U G B GEATGH B AT 7
(1) g¥ara

(2) 9T

(3) H8a9ra

(4) wigure

Alexander invaded India in which year ?
(1) 324 BC

(2) 328 BC

(3) 326 BC

(4) 325BC

fepex o fpE ¥ ARG 9T SIERAYT fhar 7
(1) 324%0 Yo

(2) 32830 Yo

(3) 32630 Yo

(4) 32530 Yo

Who was the First Muslim President of Indian National Congress ?

(1) Hakim Azmal Khan

(2) Abul Kalam Azad

(3) Rafi Ahmad Kidwai

(4) Badrudin Taiyabji : |
(1) &HIF IoHT EH

(2) STga HAH AN

(3) THr a1 fheas

(4) FEBeT qgEsil

LBHJ4§1§1—202.1/(Law Three Year)/(SET-Y)/(A)

P.T.O.
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91.  Gadar Party was founded in which year ?
(1) 1905

(2) 1911
(3) 1913
(4) 1915
T 9T & T Ry gS o 7
(1) 1905 %
(2) 1911 #
(3) 1913 #
(4) 1915 &
92. Which Mughal Emperor had put a ban on killing of animals in certain days ?
(1) Akbar
(2) Babur
(3) Humayun
(4) Shahjahan
%Wmﬁﬁfﬁa%ﬁﬁamﬁaﬁmwmﬁﬁamm ?
(1) sfeherx | =
(2) ==X
3) g4
(4) SmESTEl

93. Which among the following is not correctly matched ?

(1) Surat — Tapti
(2) Badri Nath — Alaknanda
(3) Jabalpur —Narmada
(4) All are correct . _
P & & $9 of gafkm 78 ¥ 7
(1) gz - ar<q
(2) sEFT - aTeAa
(3) STEEgR - THa
(4) |sft 9&r g

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(A)
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A
94. Which of the following states is/arc mot a part of Western Ghats ?

(1) Gujaral

(2) Tamil Nadu

(3) Andhra Pradesh

(4) Both (2) and (3)
ﬁﬁﬁ%ﬂﬂﬁ%ﬁqu@mﬁmmﬁw 7@ 87

(1) e
(2) aferg
(3) otfer wRer
4) (2) 3} (3) &=
95. Jhabua are tribals from which of the following States ?
(1) Gujarat
(2) Madhya Pradesh
(3) Rajasthan
(4) Haryana
geT Frefiied & @ Re wow & onfard ¥ 7
(1) Ieras
(2) Heg uasr
(3) e
(4) sRzmom

96. The Mount Everest is situated in which of the following region ?

(1) Nepal Himalyas
(2) Himachal Himalayas

(3) Kashmir Himalayas

(4) Punjab Flimalayas .

6T g refafaa 7 4 g a7 7 Reg 8 2
OELIGREL ISR |
(2) fewrae fRHTe™

(3) i AT

OREICHEEISE]

. BHI.EE-2021/(Law Three Year)/(SET-Y)/(A) - P.T.O.
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97. 'The first complete Indian Bank was established in which year ?
(1) 1794 (2) 1894
(3) 1896 (4) 1902
Tee T Wt en Rew ad wenfier fwar ot e ?
(1) 1794 ¥ (2) 1894
(3) 1896 H 4) 1902 7

98. The first Planning Commission in India was formed in the year
(1) 1947 2) 1950
(3) 1952 (4) 1955
ARA & goH QST ST o1 wes Rea ad # Rear wwar o ?
(1) 1947 H (2) 1950 #
(3) 1952 H (4) 1955 7

99. Union Budget of India is presented by whom and in which houses of the
Parliament ?

(1) Finance Minister of India; Lok Sabha

(2) Prime Minister of India; Rajya Sabha

(3) Cabinet Secretary; both Lok Sabha and Rajya Sabha

(4) President of India; in joint session of Parliament

TRA BT BLT Foie had T S G0 & 5 gt # gga fear smar 2 2
(1) 9 & fRaae=l; e a9

(2) YRGB TUFHAT; [T G

3) BRMT aR@; e T ok I /AT <=

(4) sRa & Tegafe; dEE B HgER @ A

100. Population Explosion in a Country means :

(1) High birth rate and high death rate

(2) High birth rate and low death rate

(3) Low birth rate and high death ratc

(4) Low birth rate and low death rate

Rt a1 § STeEe Repe @& oo ® o
(1) F== o & T 3= TG T

(2) S=a1 57 &% &Y et g &

3) = s 3R S=a g N
(4).ﬁ'|=wtﬂma'{a?r{ﬁ‘1ﬁraﬁgﬂ

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(A)
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'A' makes an attempt to steal some jewels [or breaking open a box, and after so opening
the box, linds that there is no jewel init.

(1) 'A" has committed no ofTence

(2) 'A' has committed the offence of stealing

(3) 'A' has attempted to commit the offence of stealing

(4) None of the above ‘

‘T g A B e B R HB e gua H ga R g, 9 g9 a9
A g |WeH @ 9%, gren § 6 Iud @ e |E g

(1) ‘@ 9 g 3y T fmr ¥

(2) ‘@ | WY FH o O @

(3) ‘@ A A F ITIAY HIA FT g9 AT B

(4) IUERT A |/ PHg @I

'A" writes a letter to 'B' in which he uses abusive language against 'B' and also states that
'B' is a dishonest person. 'A' put the letter in a scaled envelope and delivered it to 'B".

(1) 'A' has committed defamation

(2) 'A' has not committed moral wrong

(3) 'A" has not committed defamation

(4) 'A" has committed a moral wrong ' :

‘q’ S um N rEar ¥ Rrad ge & Reens ST AINT b1 HArT
F<ar ® ol g off sarr ¥ Bp A uw AW @Rk BT 9 W I
Ao RE® ¥ o f&ar ok 98 <y @ g

(1) ‘@ J welT & 8

(2) ‘@ X s o T Rear ®

3) ‘@ I AFTE TE W T

@) ‘@ I Ny T B e

'T" just walked over the land of 'P' to reach his house as it was a short cut. 'P' had
disi:layed a notice that it is not a thoroughfarc. 'P' did not cause any damage to the land.
(1) '"T" has not committed any trespass on the land 'P'

(2) 'T" has violated privacy of 'P'

(3) 'T' has committed trespass 10 land

(4) 'T" has created nuisance for P’

& o WX qEER B R W # g W 99 § i 98 us Srer
ml‘ﬁ’%@ﬁﬁﬂnﬁﬁhmmﬁﬁuﬁ@émq—gf%'.ﬁ,%i@qﬁ
S A TE TG |

(1) A Ty @ W) FE e T R B

(2) < A «f ) MIATAT HT Iee [HaT 8

3) @ F g @ AR fear ®

4) @ 7 G B [ Sumd Yar R @

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(B)
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4. 'B' was formally invited by 'A' to his house. 'B' after sitting for some time in drawing
room, moved to the bedroom of the house. 'A' sued 'B' for trespass. f
(1) 'B' has offended 'A' by moving to bedroom
(2) 'B' has interfered with privacy of 'A'
(3) 'B" has committed trespass as there was no consent of
(4) 'B' has committed no trespass as he entered the house with
& gy e B9 Y ‘T OERT HUY BY 9T AT feedr TEr ATl o BY
%?w@nﬁ%aﬁ%mm%agﬁqﬁawwwwﬁaﬁaﬁ%ﬁﬂ
‘A’ U HemeAT T fHar |
(1) @ 3 5@ § S ‘T B AR HT &A1 8
(2) G 7 ‘@ # MNodrgar F swEg AT @
(3)‘?’%mm%ﬁ%mﬁ@ﬂ%m‘Q’aﬁaﬁéﬂaﬂﬁfﬂeﬂ

'A' for entry in bedroom
'A's consent

oA
(4)‘§T’ﬁﬁ1’éeﬁﬂﬂﬂﬁﬁﬁm%ﬁﬁﬁwﬁ‘q’aﬁﬂmﬁmﬁnﬁrw
fopar &r

5. 'P' was {{'rongfully prevented by the Returning Officer from exercising his vote in an
assembly election. However, the candidate for whom he wanted to caste his volc won
the election. Still, he (P) brought an action claiming damages. Which of the following

derivations is correct ? _
(1) 'P' would succeed in his action, as it is mandatory to cast vote.
(2) 'P' would not succeed in his action, as the candidate for whom he wanted to give

his vote won the election.
(3) 'P' would not succeed in his action, as he did not suffer any loss in that election.

(4) 'P' would succeed in his action, as he was wrongfully prevented from exercising his
legal right of voting in that election.

mﬁwmgﬂmﬁ‘ﬁ’aﬁﬁaﬁhaﬁﬁmr%amﬁahzwmmﬁa
o G @ T o i, R Sefiea & R a8 SI9AT d9re ST aredl
m,aggmaeﬁﬁﬂmlﬁﬂﬁ,aﬁﬁﬁ(ﬂ)aaﬁwwmgq%mg
2| Preerad § & @H-d1 gar gerE 7
(1)'¢r’mmﬁméﬁvn,ﬁfﬁswmaﬁaﬁ%l
(2)‘ﬁ’aﬁmﬁwﬁéﬂ,ﬂﬁﬁﬁiﬁm%ﬁm.ﬁam
dre 3= =mEar o1 a8 gAd Sd T |
(3)‘ﬁ’mﬁmﬁmﬁaﬂ,mﬁﬁﬁwwﬁgﬁmw
Sl gaAr ol |
W eTqt HriaE F gha e, #ie 39 39 g O omaee B ofud
mﬁmﬁmmwﬁﬁwaﬁ%ﬁﬁzﬁrwem -
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6. Jeeva
n g . . . . .
. and Pavan were neighbors in a residential locality, Pavan started a typing class

i . . . 1
arrlla l]{J:art of his h-ouse and his typing sound disturbed Jeevan who could not put up with
y kind of continuous noise, He filed a suit against Pavan.

(1) Pavan is liable, because he should not have started typing class in his house

(2) Pavan is liable, because as a neighbor, he should have realized Jeevan's delicate
nature .

(3) Pavan is not liable, because typing
Jeevan

(4) None of the above : ‘
ﬁwaﬁqﬁ@ﬁﬁmsﬁsﬁ@ﬁu@ﬁaiw%a@w%@%@ﬁ

sound did not disturb anyone elsc other than

'mﬁvmgﬁﬁamwﬁasﬁwﬁaﬂamﬁsﬁaﬁaﬁﬁsmaﬂﬁm

ﬁmﬁmmwsﬁwﬁwmmlwﬁw%w

HehaHT JEY fehar AT |

(1) 9a Sweard B, Fie 9@ ofT 8y H TR o P& Ael w3l =med
T

(2)Wﬁw@%,aﬁﬁﬁwq@ﬁ%wﬁ,aﬁsﬁaﬁ%www
wedrd el dieq o |

(S)WW@Hﬁ%,mﬁﬁﬁasﬁﬂwﬁf%W%aWﬁ?ﬁaﬁTﬁ
Qe el fhar ‘

(4) IIAT F & B X

'A’ purchased a car from a person who had no title to it and had sent it to a garage for

repair, 'X', believing, wrongly, that the car was his, removed it from garage.

(1) X' can be held responsible for trespass to goods

(2) 'X' cannot be held responsible for trespass to good as he was under a wrong belicf

(3) 'X' has not committed any wrong

(4) None of the above
@ e O G A 0P &R TR, Rrad o gue wi o T2 er el

= woe @ g et F qom o1, ‘TR g8 A gY, [ PR I o, S9

Mo q wel RAT| !
(1) ‘o’ AR F SAER B g REARR semEn S w@hdr §

(2) ‘g B B F R R F Rig RrdEr 7@€ seE S s w=iiks
g8 T "R % ded 97

(3)}@’%%%@%&{1%
(4) SudeT # | BIE: T

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(B) A
| P.T. O.
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8. 'A' made a proposal o sell his motorcycle to 'B' for rupees 25,000. 'B' agreed to buy it

tor rupees 24,000, 'A' sold his motorcycle to 'C' for 26,000 the next day. 'B' sues 'A’ for
damages.

(1) "B will get the ditTerence of rupees 1,000 only

(2) "B will not get any damages from 'A’

(3) "B’ will get damages from 'A'

(4) 'B' can proceed against 'C'

T ¥ I e aﬁ’aﬁzsooowﬁaa%wmamwaﬁ’@
24,000 &9 ¥ @lew & fQ Teaa & @) ‘T X oF R o1 Hiexarsfh
A’ @ 26,000 9 F Fg Q1 Y e B R QW 9 FHESAT FHEAT B

(1) N &/ Haw 1,000 59T 1 HAax B |

(2) € @ ‘T F/ AT Al H

(3) ‘& = ‘W F M BeEm

@) ‘& ‘G 3 faare o I THaT ©

While taking a life insurance policy, in reply to questions by the insurance company
during the inquiry into his proposal, Zameer decliberately concealed the fact of his
medical treatment for a serious ailment, which he had undergone only a few weeks ago.

(1) The concealment of fact by Zameer amounted to fraud
(2) The act of Zameer amounted to innocent misrepresentation -
(3) The act of Zameer did not amount to any misrepresentation

(4) The act of Zameer did not amount to fraud, as disclosing the fact would have
resulted in exposure of his privacy

SaT e O Sy @Rg, S BTN ERT Y N @ Sig & S

W@%Wﬁ,ﬂ?%@waﬁﬂﬁ%mﬁﬂﬁﬁmw%aw

N ST BT, R SR FB AwE Ted & S o

(1) SR &R qed GO Sars) AR 2

(2) SR @1 FHa FEY TAd FAE B aEL Al

(S)memﬁwmﬁﬁwﬁm :

(4) SR 1 HE SrEeSy @ Ao F{ A6l ofar o, qﬁ%ﬁsﬂawww
FE q IFH M H SIREH B
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10.

11.

12.

5

'A' promises to pay 5,000 rupees to 'B' on the condition that he shall marry with the
consent of 'C', 'D' and "I, 'B' marrics without the consent of 'C', "D and 'I¥', but obtains
their consent after the marriage.

(1) 'B' has not fulfilled the condition

(2) 'B' has fulfilled the condition

(3) 'B's marriage is not valid

(4) The condition is illegal

‘o’ ‘&ﬁ’a%ioooﬁqazmgvﬁmaﬁﬁwmaﬂw%,zmsréwféﬁ -
/R, I AR F @ weAl @ A FOW A, @, S el % W e
3 R T T B, AfeT i B aTg Sl Ry TR e €

(1) =" F sf gt & @

) T o g B

(3) ‘S’ =1 [EE T T8 2

(4) et oty ®

A horse was bought for a certain price coupled with a promise to give 500 rupees more

if the horse proved lucky.
(1) This is a valid agreement

W A

(2) This agreement is void for uncertainty because it is very difficult to determine what

luck, bad or good, the horse had bought to the buyer.
(3) The agreement is partially valid and partially void
(4) None of the above _

@%ﬁwﬁmﬁﬁqﬁwaﬁmwmaﬁwwﬁaﬁwﬁmw
o7 o OTX HIST WFALTRl &l g3t ar 500 92 @ftes am|

(1) I8 T I FHACT 8

(@) 7% e SFREAT $ Ria g B it ge ReiRa e 9w gieee

T fF @OEE H T 9 2 6 399 g1 T ofT a1 'R @ler
(3) EFEeT ST B0 A Aw ¥ ovifens w9 q g ¥
(4) SIAT H q HE A

X' madc‘ an off_‘er to buy 'Y's property for a stipulated price. "Y' accepted it and
communicated his acceptance to 'Z', a stranger. s

(1) Y's agreement resulted in an agreement

(2) Y's acceptance did not result in any agreement
(3) Y's acceptance resulted in a contract

(4) Y's acceptance resulted in a promisc

P.T.O.
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'xraly-ﬁm%ﬁwﬁafﬁaawwaﬂaﬁmwﬁmw'ﬁsé
Eﬁaﬂmi%lmaﬁ?qzﬁamﬁ'zaﬁam?ﬁ‘@?ﬁaﬁwa'

(1) 'Y & ard B AR O T g7 '

2) 'Y @ @l & aRemETEEy HE qEar Tl g

(3) 'Y' @ e & qReTHEET TgEd g3l |

(4) 'Y' @ TP & IREEET T e g

13. 'A’, a boy of 16 years of age, agrees to buy a camera from 'B', who is a girl of 21 years

of age.
| Which of the following derivations is correct ?
(1) There arises a contract between 'A' and 'B' to sell/but the camera in question
(2) There arises an enforceable agreement between 'A’ and 'B' to sell/but the camera in

question
(3) There does not arise a contract between 'A' and 'B' to scll/but the camera in

question
(4) There arises a voidable contract between 'A' and 'B' to sell/but the camera in
question
‘0’ 16 99 HI Teh TSI, & F B @iey & e gsad e &, S 21
ag a5y TSP e . ) ’

Rrefafad & ¥ H=-a1 Fgaky g@ 8§ 7
(1)‘q’aﬁ?‘Eﬁ’%éﬁﬁéﬂﬁ%%ﬂ/@fﬁmmaﬁﬂ%qﬂ%aﬂﬁ%aﬂdu
I~ BT B
(2)‘q’eﬁr'eﬁ’%éﬁaéaﬁ%%qzﬁ%ﬁam&ﬁq%w%aﬁa@m'
Hey drg gEEr ear § - |
(3)‘E’aﬁ?‘aﬁ’%aﬁﬁaﬂﬁ%%q/%%ﬁ@v@ﬁ%qﬂ%aﬁaqzsawq

T BT ® .
@ @ o A F @ T & R S &1 & d=9 TH
WG@HW@W%

r husband Shankar was alive, promised to marry Neel in the event of

14. Sunita, while he
Shankar died, but Sunita refused to marry Neel. Neel

" Shankar's death. Subsequently,
sues Sunita for damages for breach of promise.

(1) Sunita is liable as she is bound to marry Neel
(2) She is liable to compensate Neel for breach of promise

(3) Neel can marry someonc else
(4) She is not liable as the contract is opposed to public policy and so void

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(B)
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Qe el e amsy faur) g w16, 29T A ey o T, Afde e A A

Ay Ay Q gy e far i sfer A 5 el @ fan gen 9% B

B GET A |

(1) geiar Fereapit 3 adif as e @ are B oy & fong =er @

() a6 ait & el @ fo e @ afkfd 5o & g e >

(3) et frd ahg @ il T e

) ae geRaEl sl B il orgE Aol
P B

dife & fadw ¥ § of FAfad

15. I Parliament enacts a legislation prohibiting strikes by trade unions of employces

engaged in pharmaceutical industry, then:

(1) The legislation would not violate the right to free

(2) The legislation would curtail the right of trad
violate [reedom of association

(3) Since strike is only one of the objectives wit
(o strike is not protected by the right Lo frecdom of

(4) None of the above

uﬁrﬁmmﬁgﬁmwﬁvﬁeﬁmﬁﬁaﬁ?aﬁuﬁmmaﬁ

qRrEfRre e arel e R 8, v

(l)wﬁaaﬁmﬁﬁn%awmmwwmwaﬁ-m

(2)@%@%%?@%3%@@%, X zaie 99
oY T I IeeraT BN

(3)qﬁsmmwﬁqa%m%maaggﬁwwmﬁmw%,
gsﬁmmammm#m%amﬁmmqﬁ%

(4) SueR H @ @R T

Which state has launched the COVID-19 affected Livelihood Scheme ? |

(1) Assam '

(2) Iaryana

(3) Manipur

(4) Bihar
frg T9d 3 COVID-19 gafaa arfifyesr e & 1 8 7

(1) 3TH
(2) sRArm
(3) AfTgT
(4) fererX

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(B) , P' T.0

dom of association
¢ unions to strike, and therefore

h which a trade union is formed, right
association

16.
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17. The State Bank'of India (SBT) recently 1muguratcd an ATM on a Houscboat in which
city ?

(1) Shillong

(2) Guwabhati

(3) Srinagar

(4) Kohima

AT Re % (SBI) 7 =it & & fpg 9e¥ § UF eoddle ¥ TF CEITH &l
Iggre fhar ?

(1) f3reTieT

(2) TETETET

(3) FMTR

(4) =wifesT

18. Who authored the book titled 'A Begum and A Rani' ?
(1) Mukand Sejwal
(2) Girish Kajval
(3) Chetan Bhagat
(4) Rudrangshu Mukherjee
‘T H €S g IAEP AHE KIS H @ DI 8 7
(1) T Horare
(2) Fréter preEmT
(3) ATT
(4) BaiTy FEst
19. Who has won a Gold medal for India in the javelin throw event at Tokyo Olympics ?
(1) Bajrang Punia ‘
(2) Saina Nehwal
(3) Neeraj Chopra

(4) P. V. Sindhu
aﬁaﬂaﬁmﬁw%mmﬁﬁm%ﬁﬂwﬁmﬁwﬁvﬁm%?

(1) =T g
(2) |z AT
(3) sX=1 =Aggr
(4) Gio o Ry
LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(B)
.
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+ 20. Which Indian wrestler has won the Olympic wrestling bronze medal in 20217

(1) Bajrang Punia
(2) Vinesh Phaugat
(3) Ravi Dahiya
(4) Yogeshwar Dutt

R wRer w2021 A oiifues gl @i g Sfiar 7

(1) ST gfeman
(2) AT wiE
(3) e afear

(4) AQMgET &

21, Who is the first woman pilot of India ?
(1) Seema Deswal
(2) Sarla Thukral
(3) Gcehna Vashisht
(4) Asha Mathur |
WA W qel Afger grgee Hie 8 7
(1) S=r 2[arT
(2) I I
(3) & AT
(4) 1= HATYY

22, Mamata Banerjec has been sworn in how many times as the Chief Minister of West

Bengal ?
(1) Sccond
(2) First
(3) Third
(4) Fourth

e geil 7RI AR afYem d@mw @ gemEEh & w9 F 9wy o ¥ ?

(H @

(2) TH
(3)
(4) =X

LBHJ-EE-2021/(Law Three Ycar)/(SET-Y)/(B)

P.T.O.
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23. Which party has won majority seats in the Puducherry Assembly Election, 2021 ?

24,

25,

(1) BIP

(2)-LJP

(3) AINRC

(4) DMK

gl fqarmasT gam, 2021 ﬁ%ﬁﬁ%ﬂgﬂﬁzﬂ%vﬁ?ﬁ% ?
(1) =isidr

(2) |reTar

(3) TAETTIRE

(4) =51

. Under which Auticle of the Constitution of India the President has the power of pardon

or remission ?
(1) Article 72 -
(2) Article 71
(3) Article 76

(4) Article 74

W%%?ﬂﬁm%ﬁmeﬁ?@a%aaﬁmaﬁwmwmﬁaﬁ%ﬁ
e

(1) oTg=8< 72

(2) aT=8% 71

(3) ST 76

(4) T 74

What is the serving term of the members of Rajya Sabha ?
(1) 4 years

(2) 5 years

(3) 6 years

(4) 7 years

T AT P Gl B TaT oTafy R 8§ ?

(1) 4 97

(2) 5 9rs1

(3) 6 G

4) 7 g

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(B)
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26.

27,

28.

29,

30.

31.

A remedy for all disease is called :
(1) Philanthropy

(2) Ontology

(3) Panacea

(4) None of the above

NASA is a new word formed Trom the initial tetters ol other words, This s called

(1) Acronym

(2) Synonym

(3) Homophone

(4) None of the above

The distinctive, minimal sound unit of a lanpuage iy called

(1) Phoneme
(2) Morpheme
(3) Sememe
(4) Lexeme

A number of words in any language are onomatopocic, i.c., these words

(1) have divine source
(2) echo natural sounds
(3) can't be articulated
(4) Nonc of the above

He walks in sleep. Ieisa
(1) Cartographer

(2) Somnambulist

(3) Cannibal

(4) Photographer

Choose the correct spelling :
(1) Affidavit

(2) Affedavit

(3) Affidevit

(4) Nonc of the above

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(13)

(L P @
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32. What is the meaning of 'prima facic' ?
(1) After death
(2) An abstract
(3) At first right
(4) None of the above

33. The four basic language skills arc :
(1) Listening, spcaking, reading and writing
(2) Speaking, understanding, reading and writing
(3) Drawing, speaking, reading and writing

(4) None of the above

34. There is a non-finitc verb in the following sentence :
I stayed up all night to finish my work. This 'non-finite' verb is :
(1) agerund
(2) Present Participle
(3) Infinitive
(4) Past Participle

35. In the following sentence 'Alice became a successful writer', the verb 'became!' is :
(1) a Non-Finite verb
(2) a Linking verb
(3) abomplement
(4) None of the above

36. Choose the participle phrase in the following sentence :

"The houses located on the flood plain suffercd extensive dama-ge_'
(1) The houses located on the flood plain

(2) Suffered

(3) Extensive damage

(4) None of the above

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(B)
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37.

38.

39.

40.

41.

Which of the following sentence is not grammatically corrcct ?
(1) The courtroom bailiff says, "All rise !"

(2) If you get the yeast right, the dough will always rise

(3) The sun rises in the east |

(4) None of the above
Choose the gerund phrase in the following sentence :

'An-swering' my e-mail always seems to take all morning.'
(1) answering my e-mail " |

(2) always

(3) seems to take

(4) all morning

Time and tide ........... for none.
(1) wait

(2) waits

(3) are waiting

(4) None of the above

Choose the option having adverb clause :

(1) The problem is that our creek floods.

(2) Whenever it rains, our creek runs over.
(3) The creek that runs by our house floods. |
(4) None of the above

'Uneasy lies the head that wears a crown.' In the above sentence
(1) a Noun clause

(2) an Adverb clause

(3) an Adjective clause

(4-) None of the above

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(B)

13

'that wears a crown' is :
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42. 'He stood his ground against his adversary." In this sentenc

(1) in the secret

(2) maintained his position
(3) behaving arrogantly
(4) None of the above

43. Who broke the jug ? In this sentence 'the jug'is :
(1) a Subject Complement
(2) Direct Object
(3) Indirect Object
(4) Verb

44. A simple sentence has :
(1) One Finite Verb
(2) Two Finite Verbs
(3) Any number of Finite Verbs
4) l Three Finite Verbs

¢ 'stood his ground" means ;

45. 'Search the pockets and you will find the watch.' Thisisa ............ sentence.

(1) Simple

(2) Complex

(3) Compound

(4) None of the above

46. He prayeth best ............ loveth best.
(1) \vhc;sc :
(2) who
(3) whom
(4) None of the above

47. 1 .....ooeeen. the better beforche ............. .
(1) had written,;arrivéd
(2) has written, had arrived
(3) am writing, has arrived
(4) None of the above _

LBHJ-EE-2021/(Law Threc Year)/(SET-Y)/(B)
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48.  The Nobel Prive in Literature 2020 was awarded 10 oo, e
(1) Peter Handke
(2) Jean Paul Sartre
(3) Louise Gluck
(4) None of the above

49. Ivisited .............. school for Parent-Tcacher Meet.
(1) a (2) an
(3) the (4) None
50. The population of London is ............. any city in India,

(1) greater than

(2) less than

(3) greater than that of
(4) Nonc of the above

51. Constitution of India was adopted by constituent assembly on :

(1) 25 January, 1948

(2) 25 January, 1949

(3) 26 January, 1950

(4) 26 January, 1949

WK B e S AR @H R A9 T4 e
(1) 25 ST, 1948

(2) 25 ST=Tad, 1949

(3) 26 s=erd, 1950

(4) 26 STE, 1949

52. Which city has been named as the world's safest city from among 60 global citics, in
Safe Cities Index, 2021 ?
(1) London | 7 (2) Copenhagen
(3) Rome (4) Budapest
g Rader g3, 2021 H 60 AfEs et ¥ F e gwx B g B g
g qreY & w9 H e fRar mar ¥ 7

(1) s (2) BHATTH
(3) A . (4) eI |
LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(B) P.T.O.
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53, Panjshiv Valley iy situated inwhieh Country ¥
(1) Tadia
(2) Pakistan
(J) lran
CH Alphanistan
doralie il s Qup 3 R &7
(1) HRa
(2) WA
() |
(1) QBRI

54, Which Country has approved u three-child policy and has marked a major policy shift
to prevent a steep deeline in the birth rate in the Country ?
(1) China
(2) Japan
(3) Germany
(H) USA
Rt Qe O e-aer AR @ Al @ ¥ el ey A s ax A wrl e g
Qe B M ww wper AR sese ffgee @ mr @ e
(1) =0
(2) ST
(3) ST
(4) IMRE

55. Anatomy is a branch ol Science which deals with :
(1) Structure of animals and plants
(2) Functioning of body organs
(3) Animal behaviour
(4) Cells and tissucs
mﬁrﬁﬁama?r@famﬁaﬁﬂﬁmﬂ%:
(1) orerat ofi qel @ TR
(2) erdX & ol @ sl
(3) 9y HIEX
(4) FRERE R T

LBHJ-EE-2021/(Law Three Year)/(SET-Y )/(BB)
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§6. 'The energy of food is measured in

57.

58.

(1) Calories

(2) Celsius

(3) Kelvin

(4) None of the above

A &Y Forl @) wyrar s ¥
(1) dHardr 7

(2) Aferaw #

(3) Wfeas #

(4) IuerT H q @ o

Who discovered that plants have life ?

(1) Edward Jenner

(2) J. C. Bose

(3) Louis Pasteur

(4) Darwin

Qeif 7 ofraw & @t e @1 7
(1) Tsa8 SR

(2) No o oA

(3) g& weEl

(4) I

Which of the following is not a primary colour ?

(1) Red
(2) Green
(3) Bluc
(4) Yellow

ey % @ BT A B 7

(1) <t
(2) &
(3) T
(4) e

17

P.T.O.
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59. A person having AB-group of blood can donate blood to a person having :
(1) AB-group
"~ (2) A-group
(3) B-group
(4) O-group .
T-F9 BT YT A AR THRIGE FIA A AR S TRIE B TR §
(1) g=-we
(2) T-wgE
(3) S-wgE
(4) sN-Tw
60. From which part of Opium plant we get morphine ?
(1) Fruit
(2) Bark
(3) Stem
(4) Leaves
HHH F A F fHE AT § e AT wrw Sar ® 7
(1) &t
ARESED
(3) @
(4) afmr
61. The acid stored in batteries is :
(1) Nitric Acid
(2) Sulfuric Acid
3) Hydrochloric Acid
(4) Citric Acid
it § dafed or §
(1) TR R
(2) avRRE s
(3) BERIEHh TS
ORGIFEANES]

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(B)
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62. Normal blood pressure of man is :

(1) 85/129 mm/Hg

(2) 80/120 mm/Hg

(3) 707120 mm/Hg

(4) 90/130 mm/Hg

HIS &l W ST S
(1) 85/129 frft ya=sht

(2) 80/120 Pyt /wersty

(3) 70/120 fenft /et

(4) 90/130 feft /gt

63. Who was the founder of the Pala Dynasty of Bengal ?

(1) Dharmpala
(2) Gopala
(3) Mahendrapala
(4) Mahipala
SIS & OIS d9T 1 G i o7 ?
(1) gHarT
(2) AT
(3) mE=u
(4) wfedr
64. Alexander invaded India in which year ?
(1) 324 BC
(2) 328 BC
(3) 326 BC
(4) 325BC |
e 3 fpE ad 9IRT R STRAT gy ?
(1) 32430 Yo
(2) 32830 Jo
(3) 32630 o
(4) 32580 9o

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(B)
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65. Who was the First Muslim President of Indian National Congress ?
(1) Hakim Azmal Khan
(2) Abul Kalam Azad
(3) Rafi Ahmad Kidwai
(4) Badrudin Taiyabyji
AT AT B & U JRAA o7l $Hi & 7
(1) BHH oTHT @@=
(2) ST HAH TR
(3) T IrEHT fheag
(4) FEHEN A
66. Gadar Party was founded in which year ?
(1) 1905
(2) 1911
(3) 1913
(4) 1915
e UIET I WO R a9 gg o ?
(1) 1905 #
(2) 1911 #
(3) 1913 #
(4) 1915 #

67. Which Mughal Emperor had put a ban on killing of animals in certain days ?

(1) Akbar
(2) Babur
(3) Humayun
(4) Shahjahan |
fpe e @mre 3 fiRea R ¥ oeadd @ 9T i e o ?
(1) e1pax
(2) &y
(3) g4
G RUESE

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(B)
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68.  Which among (he [ollowing is met correctly matched 7
(1) Surat = Tapti
(2) Badei Nath - Alaknanda
(3) Jabalpur - Narmada
(4) All are correet
Freifarfeer 3 @y e ad) ydfers B 7

(1) o - ey
(2) adviyy - ayemar
(3) Srgegy - spHler

(4) asi ofy ®

69. Which of the following states is/arc not a part ol Western Ghats ?
(1) Gujarat
(2) Tamil Nadu
(3) Andhra Pradesh
(4) Both (2) and (3)
ferifarfeer @ @ dr-ar o ufdadl mie @ fowar 787 © 7
(1) T
(2) afeerg
(3) atly geqr
(4) (2) 30T (3) gl
70. Jhabua are tribals from which of the following States ?
(1) Gujaral
(2) Madhya Pradesh
(3) Rajasthan
(4) Taryana
girgan frrifafer o A e v § oanfaary ¥ ?
(1) gorad |
(2) WeH Y&
(3) TToTeATET
(4) eftaron

LBIJ-FE-2021/(Law Three Year)/(SET-Y)/(B) P.T. O.
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71.

72,

73.

74.

The Mount Everest is situated in which of the following region ?
(1) Nepal Himalyas '

(2) Himachal Himalayas

(3) Kashmir Himalayas

(4) Punjab Himalayas
AT TR fr=ifefed & @ frg @ & Rag 7

(1) Aure feHwE

(2) e fBaey

(3) wHR FRHR™

ORSIERG: I

The first complete Indian Bank was csfablished in which year ?
(1) 1794 (2) 1894

(3) 1896 (4) 1902

B o7 AR S e ad e fwm m ar ?

(1) 1794 # (2) 1894 #H

(3) 1896 #H : (4) 1902 §

The first Planning Commission in India was formed in the year :
(1) 1947 (2) 1950

(3) 1952 (4) 1955

ARG H 99 FoT SATENT 6 e e ad § fear mar o ?
(1) 1947 # " (2) 1950 H

(3) 1952 # . (4) 1955 H

Union Budget of India is presented by whom and in which houses of the
Parliament ?

(1) Finance Minister of India; Lok Sabha

(2) Prime Minister of India; Rajya Sabha

(3) Cabinet Sccretary; both Lok Sabha and Rajya Sabha

(4) President of India; in joint session of Parliament

AR B BT gore fohaesh arn ol d0g & 6 weet § wege Ry oy © 2
(1) 9T & =i, & awr

(2) RT B UY=HAT, 9T QT

(3) Sfeme afea; e g ok T |wr &N

(4) RT B Ugafe; d9s & AdgE 9 H

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(B)
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75..

76.

78.

79.

Population Explosion in 3 Country means :
(1) High birth rate and high death rate

(2) High birth rate and Jow death rate

(3) Low birth rate and high death rate

(4) Low birth rate and Iow death rate

e 39 ¥ St e @ ot ¥
(1) 399 791 &3 ok =9 gg X

2) S=9 19 )X oir 7 gg X

@) F=1 S =X ol s=7 yg =

4) 1 =11 &% oY FreT geg X

ﬁ?—ﬁﬁmqgﬁﬁﬁrgaﬁmﬂgmrﬁ‘m%?
(1) ==

(2) T

(3) IHERGEES

(4) I gaas

2%

(1) FHAET
(2) <= EreHl

(3) grara=aE Al
4) dHE=<

e, T, YA Tk e fhe sew awr e € 7

(1) AR A

(2) Hred B

(3) ST A<

(4) I A

- T AT I g R B ?
(1) 9Ra ==al

(2) o

(3) sl =IEl

(4) Br-vaE

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(B)

P.T.O.
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80, @T- TE BEUEE HE STagihET T aRT W 87
(1) T R
(2) T
(3) afeerh
(4) TR

81. ey, aied TR, aew T oY HiEand Rra sy & & d=d € 7
(1) RO 7T
(2) eftgers a=t
(3) ghEm== O
(4) gIepr=1 BrardY ‘Frer
82. ST, HMT, SUST TeT (TS & AT 6l a7 A & 7
(1) e e
(2) 3T FAR
(3) warr gare o
(4) Gd9aeaT AT

83. ‘GeARISIA HelhA [hd Ha-@gves H Iad = e 7
(1) dfreprer
(2) wferTeRTeT
(3) oTfehreT
(4) YT B |
84. PreiRifad ¥ § ad+l @ gfic & H-AT =K Y= § 7
(1) =h=fa
(2) =i
(3) @Ay
(4) =fr==h
85. Fr=ifaifad & § ad+ @ gfte & HF-AT % Y= B 7
(1) foyser=1
(2) F=™
(3) P
(4) Fe=

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(B)
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86. ST & & achit o gfte & Hra-a1 o= g 8 7

87.

88.

89.

90.

91.

(1) smelia
(2) sismEatE
(3) ansftae
(4) arshiaiy

AT-Er F Be-ar g 7
(1) FHTRT |omE

- (2) a7 T ™

(3) g & 9H1g
(4) TYET THE
‘Brgs & H-ar g9 ' 7

(1) g wm |

(2) Fgdiie Ta ™

(3) TFAHET THH

(4) HHEIRT GHH

‘e’ BT Afg-fa=Rw wr 7
(1) qar + a+

(2) 9q: + a9

(3) dua + T

(4) qUm: + 39

S &1 g=.T WﬁT%ﬁ‘ﬂHﬁSﬁzﬁrmaﬁ%:

(1) FSrsrar

(2) ot

(3) forsifersT

(4) forgam

cerfem e wRag, Rg O W= g
e Bl =5 A LS LI Liv S B S
qﬁﬂﬁ‘rﬁﬁ?—w\aﬁfm%?

(1) Ig=T

(2) a9k

(3) &9F

(4) sy
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92.

93.

94,

95.

96.

‘AN GT GiT e qEE & aa o ¥
(1) |19 &1 Fepe STl

(2) fopelt & gem=l

(3) =1 & ST

(4) IHRT BT

RrfoRad § ¥ B9-4T1 ST ‘FAT H qEETdE @ © 7
(1) &S

(2) |i

(3) i<

(4) st

Frer § & afmar @ Rodani® a= g

(1) 3TepHeh

(2) Tl

‘(3)14'@1'{!{

(4) HTT

%r—cﬁ@éﬁa‘ﬁﬁaﬁrnmw‘mm fep wfa &t =T B 7

(1) ¥Ra-g sRea=

(2) AR FEE fEad

(35 SR 99K

(4) sren Rig sqeE ‘eRel

Rustum while entering into compartment of a train raised his fist in anger towards a

person Sheetal, just in front of him in the row, to get way to enter into the” tram first,
but did not hit him.

Rustum has :

(1) Insulted Sheetal

(2) Rightly showed his anger

(3) Committed an assault on Sheetal

(4) Not committed an assault on Sheetal ' [

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(B)
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Q‘- : ?T?‘ ﬁ«a N Q) e s A R A g saf e #osiT aTgeit
gl IO, O G wer) i A or, o Ged 2 N mAer R ST, Qi
IR el R

[T A ¢

(1) S0 @ Srgeer Ry

(2) OTUHT I[RAT W) Reqray

(3) MU wR W Ry

() @ g eweEn R

97. In the course of a discussion, 'A' threw a file of papers at the table which touched the

hands ot "B

(1) 'A'is linble for insulting 'B'

(2) 'A'is not liable for his act, as it was of trivial nature

(3) 'A'is lable for his act, as the file touched 'B's hand

(4) 'A'is lable for his act, as it assaulted 'B°

uw g4t & AR ‘@ A e X FEET A O G B & S A B Erdl H
el e

(1) ‘@ Wy BT AW B B T FAREEr 8

(2) @ o @ & R gaverl T8 ¥, @i 9T gEs w1
(3) ‘@ o wmed & frg SwwErh g it wee A’ H Ty @ gl ©
s Tl @ Rre SRl 8, e Sue A’ ux e et o

rney, entrusts his plate to the possession of 'A', the keeper of a

98. 'Z' going on a jou
N r " T TAL . . ) ;
warchouse, till 'Z' shall return. I'hen, 'A' carries the plate to a goldsmith and sells it.

(1) 'A' has committed thell

(2) 'A' has not committed thell
(3) 'A' lawlully sold the plate to the goldsmith

(4) None ol the above is truc

) ‘@’

rg’ w AT O¥ S @ ¥, OTE SIE W T & pew A
fas'@rg'mw;rﬁanrﬂﬁrrlm, ‘T T H TH G D
I A AT B

(1) @ F =g @ e

@) @ = @B

(3) @ 3§ g @ w9 orelt = &

() i & @ @ o @ T E

Threc Year)/(SET-Y)/(B) P.T. O.
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B

99, 'A', Soldicr fires on a mob by the order of his superior officer, in conformity with the

100.

commands of the law. 'B' is Killed due to such firing, Is 'A" guilty of murder ?

(1) Yes, he should have taken care to avoid any innocent person from being killed

+(2) No, he is bound by law to do it

(3) Yes, as he has killed a person
(4) The superior officer is guilty

‘v, A T AR aiEd § Ry A, FELT & IR B orgeT fig W
?ﬁw%u‘ﬁ’&ﬁﬁﬁm&%mwm%w‘q’ammﬂtﬁ
37

(1)2,@@%%%?@31%%%%@%%%2{%@3@3

(2) 7, 9% U A B R B BRT aem
(3) &, Hifh g =R @ 77 s@r &
@) A= orfymrd andt B

'A' obtains the consent of 'B' to enter into an agreement by an act amounting to criminal

intimidation under the Indian Penal Code. 'A' brings a case against 'B' for performance
of agreement.

(1) 'A" will succeed in the case
(2) 'A' may succeed in the case
(3) 'B' will succeed in the case

(4) 'B' will not succeed in the case

‘T RO g3 diear & ded s aHaE @ iR & O It gRT

TS H HAY Hw & e WY N gealy o wRar 810 i 3 e
@ e & & Raeme A @ 2

(1) ‘T AFT § F%dA 8N
(2) ‘@ AT H 9% B Ghal 8
(3) ‘& TR F wHw e
(4) & A F e TE &l
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1. -G AT HEEHT Jaderg R e § 7
(1) T

2, W?ﬂﬁ,ﬁﬁﬁ,ﬁm’ﬂq,ﬂaﬁaﬂﬁmma@zﬁmﬁﬁ%?
(1) HAALR
(2) dr=7 |ren
(3) g=mEe At
4) TTE=
3. W,Wﬂgﬁ,gﬁﬁmmmﬁma@mmrﬁm%?
(1) IAHAR Al
(2) AT THA
(3) STagERY JHI
(4) IU=ATY ALH
4. - AT BRfIRer I B W 8 7
(1) 9Ra AR
(2) BoaA
(3) Bl =rel
4) Prg-varg
5. ﬁq—zﬂmmﬁmﬁrmaﬁrmmﬁa%?
(1) T foRTT
(2) I
(3) afve=t
(4) SArHEAA _
6. ﬁw,ﬁseﬁvm,mwaﬂﬁzﬁﬁmﬁﬁmaﬁﬁr%mﬁa%?
(1) HARAHET STHATA
(2) sRea= a=t
(3) girT== 9d
(4) g B Faer

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(C) - P.T.O.
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7. QFaRpn, g, wvest e ereil & oatgar wrogar sy b7
(1) e sk
(2) g QR
(3) warll war [y
(4) HAETEE HRI

8. ‘GRS’ HolH B0 we-wvs i wfag vaer & 7
W RUREAS!
(2) s
(3) sufderrer
(4) INYFIH FIe

9. ﬁqﬁmﬁﬂaﬁﬁaﬁgﬁﬁaﬁq—mm@a%?
(1) =imfa
(2) =it
(3) "
(4) =

10. F=fafaa & @ oo+ @t 3fe & Be-a1 o= = & 2
(1) M=
(2) =™
(3) M@=
(4) M=

. Fr=fefaa 4 3 o o gfe § -1 o= gz & 7
(1) svdrar
(2) =nfaratz
(3) =mitars
(4) etz
12, ‘mren-faer o s-or gaomg ® 7
(1) @riarea e
(2) fary rary
(3) &7a fqam
(4) eegEn Tmny

LBHJ-EE-2021/(Law Three Year)(SET-Y)/(C) b :
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13.

14.

15.

16.

17.

‘Braer’ § @-|1 w9 R 7
(1) f&7 594

(2) SgsE T
(3) STEAHE THE

(4) HHIRT FHTE

‘qarEge’ H arg-faRT w=1qr g ?

(1) T + =

(2) 99: + a9
(3) dua + H
(4) qun: + 394

STy 9 TEBT i & g @8 9= @ =59 B

(1) Rrsmar

) Rrfer

(3) FysiifesT

(4) forgam

«femm o TRag, fag o ' g
qeft T F Say, A AgY LA
il § @F-ar TR & 7

(1) S9=

(2) 9%

'(3) “qh

(4) ™9

AR qx Hi drear gEEY w s e T
(1) |9 1 Frepe AT

(2) Rt @ geuel

(3) gt | ST

(4) I=fA HIAT

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(C)
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18.

19.

20.

21.

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(C)

FrafalRaa & & P9-a1 9= ‘FBE’ w1 gEEES T8 8 7
(1) &t

(2) afereT

(3) sfa=

(4) 9=t

=1 d & ‘oftaar @1 Radaris = g9

(1) AT

(2) oot

(3) #RA

(4) BeTeT

Bl @S Sie &1 voH gemem Bo-van’ g e @ = S 2

(1) 9WRag BReE=

(2) #eER waE fEa<s
(3) STEAHT gaO"
(4) oarenr s Suramm ‘eRefer \

Rustum while entering into compartment of a train raised his fist in anger towards a

person Sheetal, just in front of him in the row, to get way to enter into thc train first,
but did not hit him.

Rustum has :

(1) Insulted Sheetal

(2) Rightly showed his anger

(3) Committed an assault on Sheetal

(4) Not committed an assault on Sheetal

T D B § may ad T sEW T T H frast = ol arah

o AR
qol 9O, S IuS qE uk § or, O gee 99 F qaer Rear on as, e
IH TE " .

TERH A : _

(1) et 1 oTa fomar
(2) 19T T wE R
(3) e 9X ewer fwam
(4) M« oX Emer € B

Scanned with CamScanner



5

22. In the course ol a discussion, 'A' threw a file of papers at the table which touched the
hands of 'B".
(1) 'A'is liable for insulting 'IB'
(2) 'A'is not liable for his act, as it was of trivial nature
(3) 'A'is liable for his act, as the file touched 'B's hand
(4) 'A is liable for his act, as it assaulted 'B' -
@Hﬂf%ﬁw‘Q’%%mwmﬁaﬁwmﬁmﬁﬁ‘ﬁ’%mvﬁa—:T
gl ot
(1) ‘@ & H IOAN @A B g sEeEr B
@) ‘T T B B R IRy wE 3, s g8 gEw gFa F Al
(3)‘Q’aﬁzﬁlﬁ%maﬂw@%,ﬁﬁﬁm‘eﬁ’%maﬁaﬁf%
@) ‘@ o FE B Rw IR B, wits @ 1 9X eHen B o

23. 'Z' going on a journey, entrusts his plate to the possession of 'A". the keeper of a
warchouse, till 'Z' shall return. Then, 'A’ carries the plate to a goldsmith and sells it.
(1) 'A' has committed theft
(2) 'A' has not committed theft
(3) 'A' lawfully sold the plate to the goldsmith
(4) None of the above 1s true
‘Sre’ u GIET UX T IET B, AU @e H T B b § Aia Il ¥, ST TH
fr Stz G A& off SIT| Y, ‘T Wie @ OH gAR B 9™ o ol ¥ a7
I 99 T B
() @ F I e
(2) ‘@ J =@ FJEF # B
(3) ‘q’?rgﬂﬂa?rm:fﬁm%enﬁﬁaaﬁ
(4) TUqEFT A F FHg ot T TS g

24. 'A’, Soldier fires on a mob by the order of his superior officer, in conformity with the
commands of the law. 'B' is killed due to such firing. Is ‘A" guilty of murder ?
(1) Yes, he should have taken care to avoid any innocent person from being killed
(2) No, he is bound by law to do it
(3) Yes, as he has killed a person
(4) The superior officer is guilty
‘' B AT afte SfaEdl B IR W, FLT & IR B IrgE Wi 6T
T Temar %1 Ay ORft erErdl @ HT AR S ¥4 @ 0’ s @ &l
87
(1) #, =7 z3 a0 or 7@ e o & @R Bde afa o een g @
(2) T, @& e e @ ferg gt AR AT &
(3) ¥, Fiffs zad aAfa & °re e i
(4) aftes siferprér 11 B

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(C) P.T. O.
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25. 'A’' obtains the consent of 'B' to enter into an agreement by an act amounting to criminal
intimidation under the Indian Penal Code. 'A’ brings a case against 'B' for performance
of agrecment. ‘

(1) 'A' will succeed in the case

(2) 'A' may succeed in the case

(3) 'B' will succeed in the case

(4) 'B' will not succeed in the case

‘T AR <3 dfedr @ ded STaAide gHet @ URT & Uh AEEEH ERT O
arEd # Ty F & R A # genfd o iar 81 ‘T gHsid & e
% e ‘Y & Raers AT @mar ¥

(1) ‘@ "AF & F%el g

(2) ‘T AT H A% B Ghar &

(3) ‘@’ A™e & A6 Erm

(4) A AHA 7 |ha FEl s

26. Constitution of India was adopted by constituent assembly on ;
(1) 25 January, 1948
(2) 25 January, 1949
(3) 26 January, 1950
(4) 26 January, 1949
ARG & HEa & G 99 8RS T T
(1) 25 STerd, 1948
(2) 25 e, 1949
(3) 26 ST, 1950
(4) 26 ST, 1949

27. Which city has been named as the world's safest city from among 60 global cities, in
Safe Cities Index, 2021 ? ’

(1) London

(2) Copenhagen

(3) Rome

(4) Budapest
ﬁm%ﬁaé@w,zozlﬁsomsﬁﬁﬁmsmﬁrgﬁm :
AT e $ w0 F it Rt mr ¥ 7 %, e
(1) s ' '

(2) BT

(3) |

(“4) geTRe

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(C)
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28. Panjshir Valley is situated in which Country ?
(1) India
(2) Pakistan
(3) Iran
(4) Afghanistan
gorelix aredt R 3 7 Reg & 7
(1) 9
ORUETSLE]
(3) =T
(4) BT

29. Which Country has approved a three-child policy and has marked a major' policy s
to prevent a steep decline in the birth rate in the Country ?
(1) China
(2) Japan
(3) Germany
(4) USA
g 29T I S-are AT @ Ad & R ofR A F o w A Awrd P wi
JpT B RY o wgE Aer Tead BfE B T E v

hift

30. Anatomy is a branch of Science which deals with :
(1) Structure of animals and plants ..
(2) Functioning of body organs
(3) Animal behaviour
(4) Cells and tissues
T RS @ ueh qmEr & S e ¥
(1) SRt Sfe dref ot |LET
(2) SR & i @ HrEimoTed
(3) 9 HIRIRK ‘
(4) DR X F<h

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(C) P.T.O.
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31. The encrgy of food is measured in : |
(1) Calories
(2) Celsius
(3) Kelvin
(4) None of the above
IS T FHell P HGT AT T
(1) &=y |
(2) afcga |
(3) dfca |
(4) ST H § BIg off O

32. Who discovered that plants have lile ?
(1) Edward Jenner
(2) J. C. Bose
(3) Louis Pasteur
(4) Darwin
Qe F Sfrad @t e @y ?
(1) =8 Si=}
(2) Slo "o ¥
(3) g8 Wg=R
(4) sifd=
33. . Which of the following is not a primary colour ?
(1) Red
(2) Green
(3) Blue
(4) Yellow
=1 7 | @-a1 weifes o1 98 ' 7
(1) =t
@) &
(3) e
(4) e

LBHJ-EE-2021/(Law Three Ycar)/(SET-Y)/(C) ] Loy
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34. A person having AB-group of blood can donate blood to a person having :

35.

36.

(1) AB-group
(2) A-group
(3) B-group
(4) O-group

QEl-gq T T AT Al S chwarﬁraﬁaﬁmamaﬂﬂw%

(1) wei-wge
(2) T-9%E
(3) ST
(4) oT-uE

From which part of Opium plant we get morphine ? .
" (1) Fruit

(2) Bark
(3) Stem
(4) Leaves

W%@ra%ﬁmmﬁgﬁﬁﬁ%ﬁm@m%?

(1) &
(2) fescrent
(3) @

(4) afrar

The acid stored in batteries is :
(1) Nitric Acid

(2) Sulfuric Acid

(3) Hydrochloric Acid

(4) Citric Acid

Jeiat & dufed o 2 -
(1) iy afrs

(2) avHRF TS

- (3) TSRS TS

(4) Tafes ofas o

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(C)

P. T. O.
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37. Normal blood pressure ol man is :

(1) 85/129 mm/tg

(2) 80/120 mm/Hg

(3) 70/120 mnv/Hg

() 90/130 mm/Hg

AN AR R
(1) 85/129 Byt /a=sit

(2) 80/120 Pyt /ool

(3) 70/120 ff /=it

(4) 90/130 Pt /o=t

38. Who was the founder of the Pala Dynasty of Bengal ?
(1) Dharmpala
(2) Gopala
(3) Mahendrapala
(4) Mahipala ‘
S @ OT 99T 1 HEAWR I AT 7
(1)
(2) MU
(3) He=gT
(4) AU

39. Alexander invaded India in which year ?
(1) 324 BC
(2) 328 BC
(3) 326 BC
(4) 325BC
Rrpe 3 fpg o wRa 9) SsRaor har 7
(1) 32450 Yo
(2) 32880 go
(3) 32680 Qo
(4) 32580 Yo

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(C)
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40. Who was the First Muslim President of Indian Natjonal Congress ?
(1) Hakim Azmal Khan
(2) Abul Kalam Azad
(3) Rafi Ahmad Kidwai
(4) Badrudin Taiyabji
Wﬁ@qm%qﬁgﬁaﬁawazﬁqa?
(1) BHH TTHA T
(2) AT HAH AN
(3) W eEwE fhaag
(4) TSHEN TS

41. Gadar Party was founded in which year ?
(1) 1905
(2) 1911
(3) 1913
(4) 1915
e grét @ e R ad gg o ?
(1) 1905 |
(2) 1911 &
(3) 1913 #
(4) 1915 H

42. Which Mughal Emperor had put a ban on killing of animals in certain days ?

(1) Akbar
(2) Babur
(3) Humayun
(4) Shahjahan
Ree oTer |me 3 Pifvea ReAr # S HEA W AR quEr o ?
(1) eha |
(2) ==Y
3) g
(4) sESTET

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(C) : P.T. O.
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45.

Which among the following is not corre-ctly matched ?

(1) Surat — Tapti
(2) Badri Nath — Alaknanda
(3) Jabalpur —Narmada

(4) All are correct

Fr=ifeiiaa # & @9 |8l gafad 78 8 7

(1) gz - <t

(2) FE - SA<ThAT

(3) SEgT - FHAT

@) I+ & ¥

Which of the following states is/are nof a part of Western Ghats ?
(1) Gujarat

(2) Tamil Nadu

(3) Andhra Pradesh

(4) Both (2) and (3)

Prefeiaa § § s9-ar Iog ufyesft g &1 fewar 78 8 7

(1) =

(2) afHeTg

(3) eTiE oW

(4) (2) =X (3) It

Jhabua are tribals from which of the following States ?
(1) Gujarat

(2) Madhya Pradesh

(3) Rajasthan

(4) Haryana

g FreRiRad § & B o $ nfeard ¥ 7
(1) T

(2) T =TT

3) =

(4) sRarm

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(C)
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46. The Mount Everest is situated in which of the following region ?
(1) Nepal Himalyas
(2) Himachal Himalayas
(3) Kashmir Himalayas
(4) Punjab Himalayas
ade T FrERRed # @ R i F Rag ® 2
(1) Jure femed
(2) fewmERT feAe™
(3) HHR BHET
(4) e fedRTE

47. The first complete Indian Bank was established in which year ?
(1) 1794 (2) 1894
(3) 1896 , (4) 1902
qeel gut wRg A e ad wenfuq fRar o v
(1) 1794 - (2) 1894 #
(3) 1896 H (4) 1902 H

48. The first Planning Commission in India was formed in the year :
(1) 1947 (2) 1950
(3) 1952 (4) 1955 -
g B gerE ST ST & e Bew Ad H R T ar 7
(1) 1947 ¥ (2) 1950 H
(3) 1952 # (4) 1955

49. Union Budget of India is presented by whom and in which houses of the
Parliament ?
(1) Finance Minister of India; Lok Sabha
(2) Prime Minister of India; Rajya Sabha
(3) Cabinet Secretary; both Lok Sabha and Rajya Sabha
(4) President of India; in joint’session of Parliament
aRE T B gote pae & ol da & T weAl # uwga e omer ¥ 2
(1) 9RT & foa==; SIC IR kall :
(2) 9RT & werHAY; I AT
(3) e afe; @ G SR T T A
(4) 9Re & ARy da @ Aga @ A

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(C) BB,
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50. Population Explosion in a Country means :

51.

52.

53.

54.

(1) High birth rate and high death rate
(2) High birth rate and low death rate
(3) Low birth rate and high death rate
(4) Low birth rate and low death rate
Rredt 291 § e e @ (e §
(1) 3= 577 & IR == Jog &
(2) I=a 59 X IR e 9g =X
(3) P 991 X IR S g =X
@) g o ) IR P oTg )

A remedy for all disease is called :
(1) Philanthropy

(2) Ontology

(3) Panacea

(4) None of the above

NASA is a new word formed from the initial letters of other words. This is called :

(1) Acronym

(2) Synonym

(3) Homophone

(4) None of the above

The distinctive, minimal sound unit of a language is called :

" (1) Phoneme

(2) Morpheme
(3) Sememe
(4) Lexeme

" (1) have divine source

(2) echo natural sounds
(3) can't be articulated |
(4) Nonc of the above

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(C)

A number of words in any language are onomatopocic, i.c., these words :
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55. Ile walks in sleep, Heis o
(1) Cartographer
(2) Somnambulist
(3) Cannibal
(4) Photographer

56. Choose the correct spelling :
(1) Affidavit
(2) Affedavit
(3) Affidevit
(4) None of the above

57. What is the meaning of 'prima facie' ?
(1) After death
(2) An abstract
(3) At firstright
(4) None of the above

58. The four basic language skills arc :
(1) Listening, speaking, reading and writing
(2) Spcaking, undcrslandihg, reading and writing
(3) Drawing, speaking, reading and writing
(4) None of the above '

59. There is a non-finite verb in the following scnience :
I stayed up all night to finish my work. This 'non-finite' verb is :
(1) a gerund
(2) Present Participle
(3) Infinitive
(4) Past Participle

60. In the following sentence 'Alice became a successful writer', the verb 'became’ is :
(1) aNon-Finite verb | |
(2) aLinking verb
(3) a Complement .
(4) None of the above

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(C) P.T.O.
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61. Choose the participle phrase in the following sentence :

"The houses located on the flood plain suffered extensive damage.'
(1) The houses located on the flood plain

(2) Suffered

(3) Extensive damage

(4) None of the above

62. Which of the following sentence is not grammatically correct ?
(1) The courtroom bailiff says, "All rise !"
(2) If you get the yeast right, the dough will always rise
(3) The sun rises in the east ‘

(4) None of the above

63. Choose the gerund phrase in the following sentence :

'Answering my e-mail always seems to take all morning.'
(1) answering my e-mail

(2) always

(3) seems to take

(4) all morning

64. Timeandtide ........... for none.
(1) wait
(2) waits
(3) are waiting
(4) None of the above

65. Choose the option having adverb clause :
(1) The problem is that our creck floods.
(2) Whenever it rains, our creek runs over.
(3) The crecek that runs by our house floods.
(4) None of the above
LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(C)
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! 10¢ ) o v B ANl & 1
Uneasy lics the head that wears a crown,' In the above sentence 'that wears a crown' is

(1) a Noun clause
(2) an Adverb clause
(3) an Adjective clausc

(4) Nonc of the above

'He stood his ground against his adversary.' In this sentence 'stood his ground' means !

(1) in the secret

(2) maintained his position
(3) behaving arrogantly
(4) None of the above

Who broke the jug ? In this sentence 'the jug' is :

(1) a Subject Complement
(2) Direct Object

(3) Indirect Object

(4) Verb

A simple sentence has :

(1) One Finite Verb

(2) Two Finite Verbs

(3) Any number of Finite Verbs
(4) Three Finite Verbs

'Search the pockets and you will find the wateh.! This isa ............sentence.

(1) Simple

(2) Complex

(3) Compound

(4) Nonc of the above

e prayeth best ......ovveien Joveth best.
(1) whose

(2) who

(3) whom

(4) None of the above

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(C)
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2 .. =5 e, the better before he ............. ;
(1) had written, arrived
(2) has written, had arrived
(3) am writing, has arrived
(4) None of the above

73. The Nobel Prize in Literature 2020 was awarded to ............... .
(1) Peter Handke
(2) Jean Paul Sartre
(3) Louise Gluck
(4) None of the above

74. Tvisited .............. school for Parent-Teacher Meet.
(1) a
(2) an
(3) the
(4) None

75. The population of London is ............. any city in India.
(1) greater than
(2) less than
(3) greater than that of

(4) None of the above
76. ‘A’ makes an attempt to steal some jewels for breaking open a box, and afier so opening
the box, finds that there is no jewel in it.
(1) 'A" has committed no offence
(2) 'A' has committed the offence of stealing
(3) 'A' has attempted to commit the offence of stealing
(4) None of the above
‘T eh iR H IS H [T FB TeA AT B T BT L, R 39 e
q I G & 9%, grar @ 5 Sed g weAr T8 B
(1) ‘@ 7 ;g Ay T2 fpar B
(2) ‘@ F T FT Sy fmar B
G) ‘@ %aﬁﬁaﬁramuaﬂ%wmm%m%

4) ST F @ P T8 "
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77. 'A }vritc§ a letter to 'B' in which he uses abusive language against 'B' and also states that
'B' is a dishonest person. 'A" put the letter in a sealed envelope and delivered it to 'B'.

(1) 'A' has committed defamation
(2) 'A' has not committed moral wrong
(3) 'A' has not committed defamation
(4) 'A' has committed a moral wrong :
@ & a0 R ¥ R g @ Reems STGHIASTR WIS ST SENT
BT ¥ SR e N AT ¥ % oY um aEgHm afd o0 T A 9= B TH
diees e # = R ok o <y &y div Rar
(1) ‘@ 3 Aels & 8
(2) ‘@ J e Ta "SI fohar B
(3) ‘T F HESI el W
(4) ‘@ F A a AT ®
78. 'T' just walked over the land of 'P' to reach his house as it was a short cut. 'P' had
displayed a notice that it is not a thoroughfare. 'P' did not cause any damage to the land.
(1) 'T" has not committed any trespass on the land 'P'
(2) 'T" has violated privacy of 'P'
(3) 'T" has committed trespass to land
(4) 'T" has created nuisance for 'P'
o W e & g A @ g o TWar @ Hif g8 o Srer T
qr1 9 I u Aifeq weikid fear or [ uw B uww GE 2 9 A afy
HS JHAM el ggaraT |
(1) & X aqfy 4 o HF ARER TE Fr R
(2) @ 7 = AoHTar H e B S
() ¥ I afy o i BT 8
@) & F < & Ry suxd Yar BT E
79. 'B' was formally invited by 'A’ to his house. 'B" after sitting for some time in drawing
room, moved to the bedroom of the house. 'A’ sued 'B' for trespass.
(1) 'B' has offended 'A' by moving to bedroom

(2) 'B' has interfered with privacy of 'A’
(3) 'B" has committed trespass as there was no consent of 'A' for entry in bedroom
(4) 'B' has committed no trespass as he entered the house with 'A's consent
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A @ eliTEiRe W ¥ T OERT Y =Y O¥ SR fear AT OTl Al B
WSEET & § Jo3 3 a8 X & Jgeq F =ar T T ﬁaﬂ%’fm’ﬁ?ﬁt’
‘A’ 9 gepeHT TR R
(1) & 9§ I=&9 | S ‘T H AR HT Rar
(2) ‘&’ T ‘Y H MUAEAr § s8I BT ®
(3) &’ 7 =R AT ® =it Jswq # w3 $ R ‘@ S HIE gedfd Fet

off |
4) 9 T 3 AR T2 e T oifts ogY ‘v e weafy @ ux ¥ maw
fepaT e

80. 'P' was wrongfully prevented by the Returning Officer from exercising his vote in an
assembly election. However, the candidate for whom he wanted to caste his vote won
the election. Still, he (P) brought an action claiming damages. Which of the following
derivations is correct ?

(1) 'P' would succeed in his action, as it is mandatory to cast vote.

(2) "P"would not succeed in his action, as the candidate for whom he wanted to give
his vote won the election,

(3) "P' would not succeed in his action, as he did not suffer any loss in that clection.

(4) 'P' would succeed in his action, as he was wrongfully prevented from cxercising his
legal right of voting in that election.

T faymasr gaE # Q@ & R PR T ot 9 @ g wme Q@

TG T A Ahl o7 | BTedifen, 9 Iea & Qg8 91 die SeEr =rear

o, g8 A S Tm@ri Y ofl, S (9) 5 @1 S H gU O hars
- F | g § @ SA-dr gt q8r g v

(1) ‘tﬁ’amﬁaﬂ?iﬁwﬁam Fiifp AR HT AfE ¥

(7)‘tﬁ T wrar § wwe T8 A, aEite R SEedR B R 98 79
e 37 AR AT g8 FA Siid T4 |

(3) 9’ U HReE H dAB A& e, mwwﬁaﬁﬁgw
TET gaT AT

(@‘tﬁ’MEﬁﬁEﬂéﬁW@Tﬂ a@rﬁsaﬁwwﬁw%a@.
‘ﬂiﬁﬁa:rfﬁesanﬁlwaﬂﬁ@rwaaﬂ%ﬁrﬂwwml
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81. Jeevan and Pavan were neighbors in a residential locality, Pavan started a prllﬂg fi‘lifli
in a part of his house and his typing sound disturbed Jeevan who could not put up

any kind of continuous noise, He filed a suit against Pavan. ‘
(1) Pavan is liable, because he should not have started typing class in his house '
(2) Pavan is liable, because as a neighbor, he should have realized Jeevan's delicate
nature | ‘
(3) Pavan is riot liable, because typingl sound did not disturb anyone clse other than
Jeevan
4) None of the above ]
%aﬁrmmﬁaasﬁmﬁma.maaﬁm%@%@ﬁ;
E@ng@aﬁaﬁ?wﬁaﬁvﬁamﬁeﬁa?aﬁﬁsﬂwaﬂ
?ﬁﬁﬂﬂﬁwmwsﬁaﬁﬂﬁwmmlwﬁm%w
HeheHT TR T ari .
(l)wmiﬁ%,a@%aﬁamﬁwﬁa@ﬁwsg&ﬂ%ﬁw:ﬁaﬁq
ot
2) wa SuEE ¥, Fi T TS & w9 H, 9 e & AGF @A
TEard el 9heq a1 -
(S)Wﬁwﬁﬂﬁ%,mﬁﬁsmﬁvwﬁﬁcﬁw%amﬁﬂﬂaﬁ?aﬁ
qreT= @l far -_ |
(4) IURERT H q hlg &
82. 'A' purchased a car from a person who had no title to it and had sent it to a garage for
repair, 'X', believing, wrongly, that the car was his, removed it from’garage.
(1) 'X' can be held responsible for trespass to goods
(2) X' cannot be held responsible for trespass to good as he was under a wrong belief
(3) 'X' has not committed any wrong
(4) None of the above
@ J T @ AR § Th BR GiE, es 9 g@er S site 98t oor ofR
= g & g RO F 99 o1, ‘TR g8 AFa e, B R oSEa o, Sd
Mot | e Rl :
(1) ‘v’ @ A B AR & [ Rraer ssm@r oo @
(2) ‘TR’ @ =B B T iAo Rreer =€ sexmr o wwar w9ite
| gE I RO % aed of
(3) ‘T’ I Hg T e fpar ®
(4) ST & | By AL
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83.

84.

c

'A’ made a proposal to sell his motoreyele to 'B' for rupees 25,000, B3 agreed 1o buy it
for rupees 24,000. 'A' sold his motorcycle to 'C' for 26,000 the nexl day. 'B' sucs 'A’ for
damages. _

(1) 'B" will get the difference of rupees 1,000 only

(2) 'B' will not get any damages from 'A'

(3) 'B' will get damages [rom 'A'

(4) 'B' can proceed against 'C'

@ Sl AexEih A @ 25,000 B9 i A @ ogwend @) A gl
24,000 9% § wlEn & o qedd @ mar ) w A er@ e STt rira'i'arqﬁ'“r
[ H 26,000 FEF F A ) A weA @ RIw U gT YHEAT HET D

(1) @V =Rl Paet 1,000 99 H1 iy B

(2) ‘&’ ‘T F BT 7o e
(3) ‘@’ Fr ‘v F 9 feem
(4) v A B Eene TN G@ ThAT

While taking a life insurance policy, in reply to questions by the insurance company

“during the inquiry into his proposal, Zameer deliberately concealed the fact of his

medical treatment for a serious ailment, which he had undergone only a few weeks ago.

(1) The concealment of fact by Zameer amounted to fraud

(2) The act of Zameer amounted to innocent misrcpreseniation

(3) The act of Zameer did not amount to any misrepresentation

(4) The act of Zameer did not amount to fraud, as disclosing the fact would have
resulted in exposure of his privacy

g S ool A @EE, 9T &9 B ST WG & e & e

Faet @& s §, o ¥ uw iR @ # i et Riftsear suEr @ qen

Y STFIgEHT g, O Sei FE awre ged & S vy

(I)Wmawwmﬂ@aﬁvm%

(2) SR F FHI PRI TEd FaE @ axEl o9l

3) SR 7 P R o e SET & axEy el o

(4) SR 1 Hd gt @ AR F TE ST on, Fh gW qem g
H F IEH NIAEAT B SEH Il
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85. 'A' promises (o pay 5,000 rupees (o "3

86.

87.

23

on the condition that he shall marry with the

' . e and I ains
consent of 'C', "D il "1, ‘B3t marries without the consent of 'C", ') and 'Y, but obtains

their consent alter (he marringe.

(1) "B has not (ulfilled the condition

(2) 'B"has (ulfilled the condition

(3) 'B's marringe is not valid

(4) The condition is illegal s

W @Y 5000 B g I LT H Al Fr 6, Zh A
A, e o o) gl @ ardl o A, A, A
@ faem ) s ¥, Afawr andl & @19 bl T AT B E |
(1) &V A erd gy =@t e @

(2) = A el gl @ P

(3) ‘&’ @ faame Jeu Tt B

(4) erct ey ¥

~—

~

3
)
) 3

a7
I

>

A horse was bought for a certain price coupled with a promise (o give 500 rupeces more

il the horse proved lucky.

(1) This is a valid agreement

(2) This agreement is void for uncertainty because it is very difficult to determine what
luck, bad or good, the horse had bought to the buycr.

(3) 'The agreement is partially valid and partially void

(4) Nonc of the above

ap 91 @ us FifRE #Ea aX edEr T o i areg @ a8 arer feEr T

o B OTTX HIST WALl |ife gom ar 500 s9¥ etfuss A

(1) @@ T JeT AN &

(2) T qEEar st & R @ wies ae Ml s aga gied
S fp @{EaX & FT G & [ IEa 918 HI or=eT a1 @XE @iiaT

(3) weier onifers w9 & 7 oM Hifdh & q g B

(4) SwdeRt & & FE T '

' made an ol'l"cr to buy 'Y's property for a ‘stipulated price. 'Y' accepted it and

communicated his acceptance to 'Z', a stranger. ‘

(1) Y's agreement resulted in an agreement

(2) Y's acceptance did not result in any agreement

(3) Y's acceptance resulted in a contract

(4) Y's acceptance resulted in a promise
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88.

89.

C

X' F Y @ doRr @ uw FreiRd 9w ) @den @ e R 'Y T s
e Y fRrar X e eodl 'Z' B T Wil @l g Al |

(1) 'Y' & T3 & IROIHEST Th FHAT g

(2) 'Y F i B IROTHEET FHE AHEACT Tel g3

(3) 'Y' @l Wil & aROTHEEY ST gl

(4) 'Y' @l TP & IRUTHEET TFH grET gall

'A’, a boy of 16 years of age, agrees to buy a camera from 'B', who is a girl of 21 years
of age.

Which of the following derivations is correct ?
(1) There arises a contract between 'A’ and 'B' to sell/but the camera in question

(2) There arises an enforceable agreement between 'A' and 'B' to sell/but the camera in
question

(3) There does not arise a contract between 'A' and 'B' to sell/but the camera in
question

. (4) There arises a voidable contract between 'A' and 'B' to sell/but the camera in

question
‘T 16 g9 HI TH dSH, G BAU TS B [T geHd sar 8, Sns 21
qu FH ASH B |
Frfefaa & & SH-4 Fgafa g8 2 7
() ‘@ IR v & 4/ g & R/l fEmds $70 & 4= o gy
I Bl

@ @ AR A B AT I F Re/ARR Remds ST $ 9w oow e

H AFY GHAT B @

(3) ‘@ aﬁ?‘é?’%%ﬁﬁ%ﬂ%%ﬁﬂ/@ﬁﬂﬁameﬂﬁ%qv%aﬁaqzﬁa@u
SER -

@) ‘T IrR A B d=m FE B R AR TERdE dEma 3 4 o
sﬁwﬁqaﬁaawam%

Sunita, while her husband Shankar was alive, promised to marry Neel in the event of
Shankar's death. Subsequently, Shankar died, but Sunita refused to marry Neel. Neel
sues Sunita for damages for breach of promise. _ _

(1) Sunita is liable as she is bound to marry Neel
(2) She is liable to compensate Neel for breach of promise

(3) Neel can marry someone else
(4). She is not liable as the contract is opposcd to public policy and so void
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T X oy : @ g iR Bl i Rafa 7 A

WWW$Q§|m, aﬁﬁﬁaﬁwwﬁw

aswqﬂﬁﬁwmﬁmwﬂ'ﬁ%aﬁ%wm%mgﬁﬁmwﬁ

BT G fam

(1) G werd & o as @ @ o e B R 9 B

(Z)Wﬁ%gﬁm%m:ﬂaﬁaﬁgﬁaﬂ%%%ﬂm%

(3) e B ofiw & ey % w@HAT E

(Maaa;wrmaﬁ%aﬁﬁseﬁaamaﬁmaﬁ%
LA

If Parliament cnacts a legislation prohibiting strikes by

engaged in pharmaceutical industry, then :

(1) The legislation would not violate the right to freedom of association

(2) The legislatioh would curtail the right of trade unions to strike, and therefore
violate freedom of association |

(3) Since strike is only one of the objectives with which a trade union is formed, right
to strike is not protected by the right to freedom of association

(4) Nonc of the above

ufrifarg &< aren @A Sl 8, o , .

(1) B GE B AT B SARBR B IewEA AE BT

) ST 3% gREE B FSA FA & SR B HH BT, SN FERE |

fraer ® & ofiw gdfeg

trade unions of employees

_(3)§%€$WW@GEW%WWE€WWWWW%,

ssdre H1 SAMNEHR TG FHI A= & AfHR SR ST T8
(4) STUFT F & P T

Which state has launched the COVID-19 affected Livelihood Scheme ?
(1) Assam :
(2) Haryana

(3) Manipur

(4) Bihar . .

frg =9 7 COVID-19 H“ﬂf&ﬁeﬁﬁzﬁrmﬁqﬁ% ?

(1) 199

(2) sRArem

(3) #fTgR

(4) fer
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92. The State Bank of India (SBI) recently inaugurated an ATM on a Houseboat in which
city ?
(1) Shillong
(2) Guwahati
(3) Srinagar
(4) Kohima

‘*Wfrqz%za‘za(Sl}l)%mﬁrﬁmmﬁwmww'maﬂ
JgHTE Ry ?

(1) fRreriar
(2) Tarerd
(3) &R
(4) =femy

93.  Who authored the book titled 'A Begum and A Rani' 9
(1) Mukand Sejwal

(2) Girish Kajval
(3) Chetan Bhagat
(4) Rudrangshu Mukherjec
T AT d® T A g B B ¥ oo
(1) I Forarer
(2) Frirer FoE
(3) AT W
(4) s=iTY @t
94. Who has won a Gold med
(1) Bajrang Punia
(2) Saina Nehwal
(3) Neceraj Chopra |
(4) P. V. Sindhu
aﬁaﬁﬁﬁmﬁw%wﬁﬁ%%fmmmﬁmﬁvﬁm%?
(1) sSeT gfmar
(2) @A Aeam
(3) -1 =aer
(4) To Fro fHiy
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95. Which Indian wrestler has won the Olympic wrestling bronze medal in 20217

(1) Bajrang Punia
(2) Vinesh Phaugat
(3) Ravi Dahiya
(4) Yogeshwar Dutt

Bra el wewEm ¥ 2021 § ofiwifues gwft # S gah SHAr ?

(1) ST gfvar
(2) A Hrre
(3) X =@ar

(4) AFITER <9

96. Who is the first woman pilot of India ?
(1) Seema Deswal
(2) Sarla Thukral
(3) Gehna Vashisht
(4) Asha Mathur
qR H Jeel AR gEee Hi g ?
(1) €7 |aT
(2) 93T gHUA
(3) AT afIrs

(4) <1=m AT

97. Mamata Banerjee has been sworn in how many times as the Chief Minister of West

Bengal ?
(1) Second
(2) First
(3) Third
(4) Fourth

e S 3 Reael TR OfYE ST o) gl S wq § qqw e R 7

(1) &

(2) T
(3) o
(4) 9%
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98. Which party has won majority scats in the Puducherry Assembly Election, 2021 ?
(1 BJp

(2) LIP
(3) AINRC
(4) DMK
G faurra geme, 2021 % few ot & wgre @F o ¥ 7
(1) S=dr
(2) @horar
(3) waTdusTaRy
(4) =%
99.  Under which Article of the Constitution of India the Presi
or remission ?
(1) Article 72
(2) Article 71
(3) Article 76
(4) Article 74

W%ﬂﬁruﬁ%ﬁmaﬂz@a%mmﬁraﬁammwaﬂﬁaﬁsﬁﬁ
oTel & ?

(1) aTg=a% 72
(2) arg=Rx 71
(3) aTT=R= 76
(4) arg=R" 74

100. What is the scrving term of the members of Rajya Sabha ?
(1) 4 years
(2) 5 years
(3) 6 years
(4) 7 ycars
TN QA & FEl B Far ofafy /=y 8 ?
(1) 4 QT
(2) 5 QT
(3) 6 AT
(4) 7 @t
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Constitution of India was adopted by constituent assembly on :
(1) 25 January, 1948

(2) 25 January, 1949

(3) 26 January, 1950

(4) 26 January, 1949

g & Giag T SiaTE 99T ST 799l 4T e
(1) 25 STTerd, 1948

(2) 25 S9ad, 1949

(3) 26 STFE, 1950

(4) 26 ST, 1949

Which city has been named as the world's safest city from among 60 global citics, in
Safe Cities Index, 2021 ?

- (1) London

(2) Copenhagen
(3) Rome

-(4) Budapest

% A €239, 2021 F 60 ARTs =k ¥ @ BFa X & gHEr & A«
g X & wy F =i e T w7

(1) e

(2) U

(3) I=

(4) g

Panjshir Valley is situated in which Country ?
(1) India '
(2) Pakistan

(3) Iran

(4) Afghanistan

usiefiY ardt fope 3gr & Reg B 7

(1) 9a

(2) wirea™

(3) =

(4) STHTiRT
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4. Which Country has approved a three-child policy and has marked a major policy shift
to prevent a steep decline in the birth rate in the Country ¢
(1) China
(2) Japan
(3) Germany
(4) USA
R e Al AR B Aol @ R ol Rur A s g i ardy free oy
AHA & RIQ wh e AR aweng Rigser fgr qqr § 7
(1) D=
(2) ST
(3) ST+
(4) aTARERT

5. Anatomy is a branch of Science which deals with :
(1) Structure ol animals and plants
(2) Functioning of body organs
(3) Animal behaviour
(4) Cells and tissucs
AT O @ Qb Qe i et ¥
(1) STeRt ol qaf @ d@x=en
(2) AT & S H BT
(3) 4y &Faer
(4) PR PR FxH

6. The energy of [ood is measured in :
(1) Calorics
(2) Celsius
(3) Kelvin
(4) Nonc of the above
WA &l FeAT H HGT SR O
(1) e &
(2) afcgaa & '
(3) BT & =
(4) SR ¥ § @ o T "
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Who discovered that plants have life ?

(1) Edward Jenner

(2) J.C. Bose

(3) Louis Pasteur

(4) Darwin

Rf F oigs B @t waa @ ?

(1) Teag X

(2) Fo Ho =

(3) T3 W=

(4) ST

Which of the following is nof a primary colour ?
(1) Red

(2) Green

(3) Blue

(4) Yellow

Frer & Q S-a1 arafes ¢1 787 ' 7
(1) @

(2) B

(3) =i

(4) diem

A person having AB-group of blood can donate blood to a person having :

(1) AB-group
(2) A-group
(3) B-group

(4) O-group

T[T T T G Al R BT AT AR BTG HT el D

(1) TE-a9E
(2) T-g98
(3) =-a9e
(4) sN-u9E
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10. From which part of Opium plant we get morphine ?
(1) Fruit '
(2) Bark
(3) Stem
(4) Leaves
THEH & T B g 9rT | 8H JMST wrq Sar ¥ ?
(1) &t
(2) foeten
(3) T
(4) ufmr

11. The acid stored in batteries is :
(1) Nitric Acid
(2) Sulfuric Acid
(3) Hydrochloric Acid
(4) Citric Acid
Jefat § dofea o<t B ¢
(1) wrefes afds
(2) TS TEs
(3) BERERIH TS
(4) Tafes afas
12. Normal blood pressure of man is :
(1) 85/129 mm/Hg
(2) 80/120 mm/Hg
(3) 70/120 mm/Hg
(4) 90/130 mm/Hg
oI T Y e B
(1) 85/129 Frft /o=t
(2) 80/120 Foreft /it
(3) 70/120 fry /=S
(4) 90/130 Forft /=TSty
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13. Who was the founder of the Pala Dynasty of Bengal ?

(1) Dharmpala
(2) Gopala
(3) Mahendrapala
(4) Mahipala
ST @ T 9T Sl G¥ATdS I o7 ?
(1) =HaTe
(2) et
(3) A

 (4) =\l

14. Alexander invaded India in which year ?

(1) 324 BC
(2) 328 BC
(3) 326 BC
(4) 325 BC
fapet I fpg ad WIRA 94X STERAYT fRar 7
(1) 32480 Qo
(2) 3280 Yo
(3) 326 go go
(4) 32530 Yo

15. Who was the First Muslim President of Indian National Congress ?

(1) Hakim Azmal Khan
(2) Abul Kalam Azad
(3) Rafi Ahmad Kidwai
" (4) Badrudin Taiyabji
mﬁqwm%%ﬁgﬁaqawafaﬁwa?
(1) BHH IWHA @
(2) TS HAMW IR
(3) YW orERT fHeas
(4) TEHES Feh
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16. Gadar Party was founded in which year ?
(1) 1905
(2) 1911
(3) 1913
(4) 1915
T 9ET @ e B ad gd oy ?
(1) 1905 &
(2) 1911
(3) 1913 #
(4) 1915 #

17. Which Mughal Emperor had put a ban on killing of animals in certain days ?
(1) Akbar

(2) Babur

(3) Humayun

(4) Shahjahan

8 g wure 7 Miea RAF & sTedt @ e w ey amar ar ?
(1) aTpaX .

(2) ErER

(3) g

(4) SMBSTET

18. Which among the following is nof correctly matched ?
(1) Surat — Tapti
(2) Badri Nath — Alaknanda
(3) Jabalpur —Narmada
(4) All are correct

- FrefRea F @ S @ gaRkm T8 B 7

(1) g - =i
(2) Ty - aTeTEREaT

- (3) sERgr - i
(4) At adr ¥
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19. Which of the following states is/arc not a part of Western Ghats ?
(1) Gujarat
(2) Tamil Nadu
(3) Andhra Pradesh
(4) Both (2) and (3)
Preffe & & Be-ar I 9l we R 7§ 7

(1) goa

(2) APRTG

(3) aTier HaxT

4) (2) % (3) =

20. Jhabua are tribals from which of the following States ?
(1) Guijarat
(2) Madhya Pradesh’
(3) Rajasthan
(4) Haryana
Q@Bﬂﬁﬁ%@ﬁ_ﬁﬁﬁ?ﬂm%aﬂﬁa@% ?
(1) ot
(2) HET HasT
(3) TR
(4) =M

21. The Mount Everest is situatcd in which of the following region ?
(1) Nepal Himalyas
(2) ‘Himachal Himalayas
(3) Kashmir Himalayas
(4) Punjab Himalayas
e qeReE Prfaias § & e 8 A Re@ B 7
(1) Aure e
(2) fewreeT fRaa
(3) wHWR feHET
(4) doer R
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22. The first complete Indian Bank was established in which year ?

(1) 1794 (2) 1894
(3) 1896 (4) 1902
qear gof Wl &% Rea ad weniud fepar mar ar 7
(1) 1794 = (2) 1894 #
(3) 1896 H (4) 1902 =
23. The first Planning Commission in India was formed in the year :
(1) 1947 ' (2) 1950
(3) 1952 (4) 1955
qRa & TgT ST STERT @ Mo e a¥ & fpar @ er ?
(1) 1947 H : (2) 1950 #H
(3) 1952 = (4) 1955 #

24. Union Budget of India is presented by whom and in which houses of the
Parliament ?
(1) Finance Minister of India; Lok Sabha
(2) Prime Minister of India; Rajya Sabha
(3) Cabinet Secretary; both Lok Sabha and Rajya Sabha
(4) President of India; in joint session of Parliament
AR 1 BT Sote o /T X 6§69 & & ga- o g&ga &har Smar 8 °
(1) 9RT & faass; dlep a4
(2) AR & TUEHAT; I THT
(3) HfeAre |fe; a9 ok T [q|l &AL
(4) AT B’ ITSgRy; WA B FYRT G A
25. Population Explosion in a Country means :
(1) High birth rate and high death rate
(2) High birth rate and low death rate

(3) Low birth ratc and high death rate
(4) Low birth rate and low death rate
fret 3er & STeieT feremre @ ot ®
(1) 3=9 57 &Y oY S=9 g &<
(2) I=9 57 @Y ol 1 3g =X
(3) /=1 51 &7 o S g X
4 Fr=1 s =X ot Ry gy =1
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26.

27.

28.

9

'A' makes an attempt to steal some jewels for breaking open a box, and after so opening
the box. finds that there is no jewel in it.

(1) 'A" has committed no offence

(2) 'A’ has committed the offence of stealing

(3) 'A’ has attempted to commit the offence of stealing

(4) None of the above ,

J Ifeg @ B 9%, Il € 6 I8F g e T8 B
(1) @ I HE TRy &l & &

(2) ‘@ A A H W BT B

() ‘T T AL B FIWY HIA B 9 fBAT ¥

(¢) ST # | B el

'A writes a letter to 'B' in which he uses abusive language against 'B' and also states that
'B' is a dishonest person. 'A’ put the letter in a sealed envelope and delivered it to 'B'.

(1) 'A’ has committed defamation

(2) 'A’ has not committed moral wrong

(3) 'A’ has not committed defamation

(4) 'A' has committed a moral wrong

‘@ G FY U 9N fradar & BEd g AP & Raare STuHSE |IiHT @1 9arT
FIT T oK Fs oft g ¥ B O ww AW AR B W OF 9 R TH
Jee s § =@ fkar ok 38 & @ v &)

(1) ‘T ¥ AT & B

(2) ‘@ I AF TEa S BT B

(3) ‘@ F AFEI T H 8

(@) ‘@ 7 Afoe T 2

"T" just walked over the land of 'P' to reach his housc as it was a short cut. 'P' had
displayed a notice that it is not a thoroughfare. ‘P’ did not cause any damage to the land.
(1) 'T" has not committed any trespass on the land 'P’

(2) 'T has violated privacy of 'P'

(3) 'T" has committed trespass to land

(4) 'T" has created nuisance for 'P'

G AU AT qEEy B R o H oI W T R Fi% 9w a Ser e
ary dr 3w Sifew weta Bear o1 6 g dR TEN T B W I iy @y
®E THAE T ggamT | |

(1) 9 & ofy G g B arfeare Té fear

() G A G @ Ao H SeaHd AT ¥

(3) € 7 g a7 sfeEr fear B

@) e F @ B fo Iz et FEAT B
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29, 'B' was formally invited by 'A’ to his house. 'B' after sitting for some time in drawing
room, moved to the bedroom of the house. 'A' sued 'B' for trespass.
(1) 'B' has offended 'A' by moving to bedroom
(2) 'B' has interfered with privacy of 'A’
(3) 'B" has committed trespass as there was no consent of 'A’ for entry in bedroom
(4) 'B' has committed no trespass as he entered the house with 'A's consent
A @ MU= I § ‘T FRT 99 WX 9T S(HEE fpar war gt Y e
WEET T H A2 B 9% R S A9 § e 7497 | ‘T %aqﬁ’mwih‘ﬁq
‘A’ 9X gepaHT IET fRaT |
(1) @ 9sEH 7 ST ‘T AR wY Rar B
(2) ‘A’ T T H M ¥ ewdy e B
(3) Y A IR frar i Jsed ¥ My 3 R ‘o 9 H15 genty T8

ot
4) N F ;F ftER 7 P B w1t SEv ‘T @ Tedila @ X F gaar
fepar e

30. 'P' was wrongfully prevented by the Returning Officer from exercising his vote in an
assembly election. However, the candidate for whom he wanted to caste his vote won
the clection. Still, he (P) brought an action claiming damages. Which of the following
derivations is correct ?

(1) 'P' would succeed in his action, as it is mandatory to cast vote.

(2) 'P' would not succeed in his action, as the candidate for whom he wanted to give
- his vote won the election.

(3) 'P' would not succeed in his action, as he did not suffer any loss in that election.

(4) 'P' would succeed in his action, as he was wrongfully prevented from exercising his
legal right of voting in that election.

T fageasr gaa # 90 @ Ref T offhar ¥ o199 @ mE S @

T % | AHl A7 | Beies, ™E IHEaR & [T g8 19+ ae SeET gedn

9T, 98 gAE S T fR o, sRm (f) ' @ e e ge o wras

%l | Frafefad § § He-d Fgafn @@ 8 ?

(1) ‘9 oT9=t FHrd & aHed BN, ﬁﬁwmaﬁmﬁ%l

(2) 9V &9t waE ¥ wea @@t enm, w4t e Ieikar & R g oo
qIe JT HATEAT o7 g8 gA™ S 4T |

(3)‘f?f’a¢':l?ﬁ65r{“ars§ﬁﬂqo"rﬂ‘€f@7ﬂ HAIh S, GG H I§ BT oA
el B3 &)

(4)‘@’am=i’r$r&ns‘irma—ram aﬁfﬁﬁaﬁwgﬁaﬁqﬁma‘saﬂ%
Eﬁlfﬁawzmmhwaﬁﬁﬁwaﬁﬁ%ﬁﬁ?ﬁrwmn

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(D) = ' -

Scanned with CamScanner



D 11

31. Jegvan and Pavan were neighbors in a residential locality, Pavan started a typing class
in a part of his house and his typing sound disturbed Jeevan who could not put up with
any kind of continuous noise, He liled a suit against Pavan.

(1) Pavan is liable, because he should not have started lyping class in his hous¢

(2) Pavan is liable, because as a neighbor, he should have realized Jeevan's delicate
nature

(3) Pavan is not liable, because typing sound did not disturb anyone ¢lse other than
Jeevan

(4) None of the above

e ok qaT o Remsht s F wERkh ¥ ggw A oy W F UF B H

Esﬁﬁwmgﬁaﬁaﬁ?maﬁzsﬁwaﬁemmﬁaﬁaﬁa%ﬁsmwﬁm

St BRdr oft axE @ AR SR @89 98 ¢ ghdl o1 394 9ad & [EerE

qeheHT &raX fhar |

(l)maﬂwﬁ%,azﬁ%aﬁamﬁwﬁasﬁmﬁmg@aﬁwaﬁq
ot

(2) 9o SOREE B, Hiifh UH TSR B w9 H, I SigT & AgE GHE F
Tesdrg 8T gieT of

(3)Wm@ﬂﬁ%,aﬁﬁsasﬁvmﬁﬁsﬁa?%ammmﬁaﬁtaﬁ
Qe Al AT

(4) IUAFT H q P36l

32. ‘A’ purchased a car from a person who had no title to it and had sent it to a garage for

repair, 'X', believing, wrongly, that the car was his, removed it from garage.

(1) 'X' can be held responsible for trespass o goods

(2) 'X' cannot be held responsible for trespass to good as he was under a wrong belief

(3) 'X' has not committed any wrong

(4) None of the above

o T ug OF oy @ o e Gad, Rk O™ gwe SR odids Tl ar sk

= Ave & g R # Ao o1, TR’ 9 T EY, s e 8, o@

T @ s femr

(1) ‘T’ @ A & siferare @ g BT SEEN O T

Q) ‘g F s & ferg aifaare & s il seRrar snowasm @Rie

- FE TT 9O & e Hl
3) ‘o’ A @ e Wl A B
(4) SureRT # H FE T

LBHJ-EE-2021/(Law Three Year)/(SET-Y)(D) P.T.O.
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33. A" made a proposal to sell his motoreyele to B! for rupees 25,000, "1 agreed 1o buy it
for rupees 24,000, 'A’ sold his motoreyele to '€ for 26,000 the next day. 13 sues 'A' tor
damages.

(1) "B" will get the difterence ol tupees 1,000 only

(2) 'B' will not get any damages from "\

(3) "B' will get damages from 'A'

(4) 'B' can proceed against 'C*

@ X oreel Hreariner A’ Y 25,000 U A Qe an wwnd | Y
24.000 T F Wi D R wewe & ) w A e Ra o gl
@ 26,000 T F Ju Q1A v B Rig @ g g s ¥

(1) A & Bast 1,000 U F TR R

Q) W @/ W { e B[

3) A’ FH W { T R

@) F W B Raas oM TT HEHAT B

34. While taking a lifc insurance policy, in reply to questions by the insurance company
during the inquiry into his proposal, Zameer deliberately concealed the thet of his
medical treatment for a serious ailment, which he had undergone only a few weceks ago.
(1) The concealment of fact by Zameer amounted to {raud
(2) The act of Zameer amounted to innocent misrepresentation
(3) The act of Zameer did not amount to any misrepresentation
(4) The act of Zameer did not amount to fraud, as disclosing the fact would have

resulted in exposure of his privacy
ST S iRl Sy wwE, S @e mR o W @ osie & Qe
At & s §, it X o IR S & R ered Rilher e & qu
N AT G, B W Fo q@E 9o @ a9 ol
(1) SR 8RT @@ gurn SrEeE @ R 8
(2) SR @1 FHI FEN T TR e T
(3) SPfT & @ Rl off o s & SR T A
(4) ST @ B drgeE @ AR F Ad over or, FA g9 aw @ garl
B QA IS MYHEEr S SR s

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(D)

e _

Scanned with CamScanner



D 13

35. 'A' promiscs Lo pay 5,000 rupees 1o 'B' on the c.ondlllon that he shall marry with the
consent of 'C', 'D' and 'E'. 'B' marrics without the consent of 'C', 'D' and 'I¥', but obtains
their consent alter the marriage.
(1) 'B' has not fulfilled the condition
(2) 'B'has fulfilled the condition
(3) 'B's marriage is not valid
(4) The condition is illegal

@ P @ 5,000 TIF B GIAM FA F g b B, 3@ 4 9T B AT
afp, @ ol & W WEHR A W wmy Ay, wfy, < ol & P e
3 R o e AFFT A B AT I el o HI B
(1) A et gl R R

(2) &’ A onl gt # B
(3) ‘=’ @1 foare du FE B
(4) o ST ©

36. A horse was bought for a certain price coupled with a promise to give 500 rupees morce
if the horse proved lucky.
(1) This is a valid agreement
(2) This agreement is void for uncertainty because it is very difficult to determine what

luck, bad or good, the horse had bought to the buyer.
(3) The agreement is partially valid and partially void
(4) None of the above ‘
o 01 H U MREd SHd 93 @dar T o X | € g8 arar fear
mﬁawﬁmwsﬁwﬁmg@ﬂa‘rsoowaﬁﬁaﬂm
(1) I8 Th I THACT & |
(2)%aﬂﬁmaﬁﬁw%maﬁ%mﬁﬁa%ﬁﬁﬁﬁm Tfehat
%%@ﬁﬁ?wwm%ﬁﬁwﬁtﬁ%aﬁwmwaﬁm

(3) THLAT TR T @ Y oY oAifNE T H g B
(4) ITFT H A HE &l

37. 'X' made an offer to buy 'Y's property for a stipulated price. 'Y' accepted it and
communicated his acceptance to 'Z', a strangcr.
(1) Y's agreement resulted in an agreement
(2) Y's acceptance did not result in any agrecment
(3) Y's acceptance resulted in a contract
(4) Y's acceptance resulted in a promise

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(D) P.T.O.
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' Ay Al dafkr @ e el e 9 el o swa f&@r 'Y A &4
cllepre e o afT uds SRl 7! @ oreedt whepfr @1 g il

(1) 'y e @ oy o arEiEr gon

2) 'Y # wigpfa @ aiRviresy RS i Tel gell

(3) 'Y A TR @ uRemRersy STgHe get

(@) 'Y' @ W@ @ uRemREEy ud qrEr gt

'A', 1 boy ol 16 years of age, agrees Lo buy a camera [rom 'B', who is a gir] of 21 ycars

ol age.

Which of the following derivations is correct ?

(1) ‘Ihere arises a contract between ‘A" and 'B' to sell/but the camera in question

(2) There ariscs an en forceable agreement between 'A" and 'B' to sell/but the camera in

question

(3) There does not arise a contract between 'A' and 'B' to sell/but the camera in
question

(4) There arises a voidable contract between 'A' and 'B' to sell/but the camera in
question

w16 99 H Th TS, ‘ﬁi’ﬁ%ﬁﬂ@'ﬁﬁﬁ%mwﬁiﬁ%,mﬂ
aqf # TS T |
Rr=iffea & @ @m-0 ogafa g& ® 7 :
(1)‘q’a?l‘(‘Eﬁ’%?ﬂﬂ%ﬂﬁ%%ﬂ/éﬁﬂﬁﬂm&ﬁ?%ﬂﬂ%@a@'eﬁéa
I BT & | |
(2)‘q’aﬁr*ﬁ’%aﬁaaaﬁ%m/aﬁﬂﬁameﬁ?%w%aﬂaww
B ARG GHSNT Bl ® | |
(3)‘Q’aﬁ‘ﬁ’%ﬁﬂ%ﬁ%m/aﬁﬁﬁﬂmm%ﬁﬂ%aﬁawaﬁéa
T8t e B
(4)‘q’aﬂ1‘aﬁ’%aﬂ€raaﬁ%%m/éﬁmﬁameﬁ¢r%qﬂ%aﬁa@
ROl STgEY I BN ¥ :

Sunita, while her husEand Shankar was alive, promised to marry Neel in the event of
Shankar's death. Subsequently, Shankar dicd, but Sunita refused to marry Neel. Necl

sues Sunita for damages for breach of promise.

(1) Sunita is liable as she is bound to marry Neel

(2) She is liable to compensate Neel for breach of promise

(3) Neel can marry someone clse

(4) She is not liable as the contract is opposed to public policy and so void

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(D)
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g & ort oft T B oM W gu ai o g @ Rl 7 e
Rame & @ a9 Rar) gud A, gk o) g ) oo, A gear 3 e
A E B A FTER B RAT A N a) & goelawr B R g e weia
T eReHT faT |
(1) e SoRerEl ¥ 406 aw e A ey e @ forg aner @

(2) 5 AR B SwEd B QAT B argRt @ B g s

(3) e Rl R @ ATt BT [eherr T

(4) g5 Swarl wE ¥ Rt oy arefes Ry & R 7 ¥ o g
= B

40. 1f Parliament cnacts a legislation prohibiting strikes by trade unions of employces

engaged in pharmaceutical industry, then

(1) The legislation would not violate the right to frecdom of association

(2) The legislation would curtail the right of trade unions to strike, and therefore
violate {reedom of association

(3) Since strike is only one of the objectives with which a trade union is formed, right
to strike is not protected by the right to freedom of association

(4) Nonc of the above

ﬁwmmﬁﬁmﬁ%mmmﬁ

ufersif 3 I g SRt 8,

(l)wﬁaaﬁwﬁw%amzﬁrmmﬁm _ |

(2) T 35 APEE & FAW O B AR W B B, AR AR A
FH EFAAAT BT IewEA '

(3) =fs esaE Faw UH Sged © FrAs A ¢S g @ Tew fear T R,
BSAIT BT IR &Y & @aadl & AUDRR R Gfee 76 8

(4) SWRFT § § FHg Sl

41. Which state has launched the COVID-19 affected Livelihood Scheme ?
(1) Assam
(2) Haryana
(3) Manipur -
(4) Bihar -
Rra T I COVID-19 st STofifeer AT & & 7 7
(1) am&H .
(2) sR=mom
(3) =g
(4) fErR

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(D) P.T.O.
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42. The State Bank of India (SBI) recently inaugurated an ATM
city 7
(1) Shillong
(2) Guwabhati
(3) Srinagar
(4) Kohima '
ﬂn?ﬁaéza‘as(sm)ﬁamﬁﬁﬁmsmﬁwm?wwww

Ieured far 7
(1) feretiT
(2) TameTet
(3) MR
(4) sifEsn

43. Who authored the book titled 'A Begum and A Rani' ?
(1) Mukand Scjwal
(2) Girish Kajval
(3) Chetan Bhagat
(4) Rudrangshu Mukherjee
‘q 7 ds T IEY AHE JKIF B AED BT 8 7
(1) s HowET
(2) FrisT Hrerat
(3) =G WA
(4) TEITY gEsh

44. Who has won a Gold medal for India in the javelin throw cvent at Tokyo Olympics ?

on a Houseboat in which

(1) Bajrang Punia

(2) Saina Nehwal

(3) Neeraj Chopra

(4) P. V. Sindhu

ST ol § W G et § A @ g @t gas e S @ 7
(1) oTT giEn

(2) QAT Agar

(3) -sT =t

~(4) 9o dio fHY
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45. Which Indian wrestler has won the Olympic wrestling bronze medal in 2021 ?

(1) Bajrang Punia
(2) Vinesh Phaugat
(3) Ravi Dahiya
(4) Yogeshwar Dutt

WWWﬁZOZIﬁGﬂWQQFﬁﬁWWGﬂﬁT?

(1) s gi=ar
(2) faqsT BT

- (3) M sf@ar
(4) afgeR @d

46. Who is the first woman pilot of India ?
(1) Seema Deswal
(2) Sarla Thukral
(3) Gehna Vashisht
(4) Asha Mathur
qR B qel Al qrEee B & 7
(1) |1 a9amd
(2) AT BT
(3) e af¥re
(4) TS HY

47. Mamata Banerjee has been sworn in how many times as the Chief Minister of West

Bengal ?
(1) Second
~ (2) First
(3) Third
(4) Fourth

TaT g I Rt i gRgd STe B JEdHE B @9 H gy &t ¥ ?

(1) @
(2) T -
(3) =
(4) =X

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(D)

P.T.O.

Scanned with CamScanner




18

50.

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(D)

48.

49.

Which party has won majority seats in the Puducherry Assembly Election, 20217
(1) BJP

(2) LIP

(3) AINRC

(4) DMK

g e geAE, 2021 § R ot S qgaa T S ¥ ?

(1) Fiordy

(2) <A

(3) CTEUASTRE!

(4) =%

Under which- Article of the Constitution of India the President has the powcr of pardon
or remission ?

(1) Article 72

(2) Article 71

(3) Article 76

(4) Article 74

ARG & AR B PrE oTTEdE B ded ORI e AT AT R e
o & 7

(1) sT=8% 72

(2) Ag=BE 71

(3) 3T/ 76

(4) =T 74

What is the serving term of the members of Rajya Sabha ?
(1) 4 years

(2) 5 years

(3) 6 years

(4) 7 years

I AT & 9™l gar STafy 37

(1) 4 91

(2) 5 9

(3) 6 A1

4) 7 a1

o
-
e
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51.

52.

53.

54.

55.

56.

19
F-d1 =T ABTRE geraiars &N R ¥ ?
(1) TEf=eht

ﬁ@,ﬁﬁﬁ,ﬁmﬂq,maﬂﬁmma@mmrﬁm%?
(1) FHAILET

(2) sy |rest

(3) g
(4) IHE=
T, R, gaE o Ares fra draw aw W € 7

(1) IFHAR At

(2) HIET THA

(3) SHEYIHT IR

(4) IU=ATT 3I19H

Br-dr Tar AR I g W e 7

(1) SRT HARAT

(2) FouA

(3) &= =l

(@) Brg-warg

Ae-d T BEEE FR STELiRT AR SN W T 7
(1) o7 fawmT

(2) HHEIAT

(3) |iveFT

(4) reprEA
ﬁum,ﬁsﬁw,wmeﬁmmﬁ%m%%?

(1) \ARAYOT ST
(2) sReg= =t

- (3) giET= g9

(4) gdsr= B ‘PR
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57.

58.

59.

60.

61.

62.

STTg, e, wﬂawaﬁ%wﬁmmrww%?

(1) oFdT wRe

(2) =T FAR

(3) Yo aE Ry
(4) FELEEAT TR

‘Eﬂiﬁﬂﬁ?@’wﬁrﬁm—@gﬁtﬁam%?

(1) GfRremrer
)R ESEI
(3) nfeemre
(4) STy =

ﬁwﬁr@aﬁﬁaﬁ?ﬁﬂﬁgﬁa%aﬁﬂwsmg?%?

(1) =i

(2) =
(3) d=fer
(4) #mn

Frfaiad & & o = gfic § P9-a1 9= g= B 7

(1) ===
(2) ™
3) H=T=

(4) ==

ﬁwﬁr@ﬁﬁﬁaﬁﬁg&ﬁaﬁ?msmﬂa%?

(1) snefEm

(2) eyt

(3) ersiiaTs

(4) emeTEis |
‘Arar-fer & HE-ar 91 § 7
(1) AT T

(2) f&g |= e
(3) B/ 9

©(4) TcgEY |
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63.

64.

65.

66.

67.

Fyyr'  aE-ar wm ¥ o
(1) Ry wng

(2) sgelid wwmry

(3) Q@RI WITRT

(4) WHARA TART

Al @ aly-Rede @ § 7
(1) @ -+ as

(2) O + a9

(3) U= + A

(4) T + IaT

ST W g Gl & RiT T o= @ g wY

(1) R

(2) Rl

(3) it

(4) forgam

“Ifers Ot g, R u A9 g |
9l e F &R, " "qgT g
qfergt # PF-9r oTeeR & 7

(1) T |

(2) T°®

(3) U

(4) 9w

‘FAS T T e gerEy @ adl ol ¥
(1) |19 &1 Mepe o1

(2) FFEr | g

(3) =t | s

(4) SHRY BT
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68. MISiRET # & H-a1 S=x ‘T’ 1 qHESS TE B 7
(I)Hﬁ?f

(2) @

(3) ewfer=

(4) 91

69. ™= 7 | ‘ufggar ao‘rﬁ‘rtrfla'r%iissﬁgﬁ
(1) srepee
(2) Tl
(3) FARH
- (4) T

70. %ﬁ?@—ﬁa‘ﬁﬁmqu “Tro-mary’ ﬁo—amﬁfaﬁrm%?

(1) 9Ra—g sfea=

(2) e gae faas

(3) STELRY U9

(4) s e Sureny ‘efely’

71. Rustum while entering into compartment of a train raised his fist in anger towards a

person Sheetal, just in front of him in the row, to get way to enter into the train first,
but did not hlt him.

Rustum has : .
(1) Insulted Sheetal o

(2) Rightly showed his anger

(3) Committed an assault on Sheetal

(4) Not committed an assault on Sheetal

P R F Ry R 999 5@H 3 T ¥ OF AR ofiaw & o oo
g& IoTE, S I A Gl # em, difdh U 29 H STﬁo—CITGlTﬂ%,éﬁﬂ
39 HE AR

TEH A

(1) e 1 oA R
(2) ST9AT TET HEl e
(3) oficer ¥ soem RRar
(4) Naer 9x sHaT J8f f&ar
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72. I the course ol u discussion, 'A' threw o [1le ol papers at the (nble which touched the
hands of 'B"
(1) 'A"is linble for insulting 'Y
(2) 'A'is not linble for his net, a8 i wos of trivinl noture
(3) 'A"is liuble for his act, as the (ile wuched "1 hand
(4) 'A'is linble for his act, as it assaulted 'y
e b & DT W N QWA el o) v e G & o dr B el w
gl ey )
(1) ‘@ ‘& @0 STUIRT R @ fon e B
(2) ‘@’ ot it @ fe Ferardl it B, il e gew e @ e
(3) ‘@ ot et B e el B, i wiger @ oerer @ el B
(4) ‘@ oru wrf & [ geerE) g, Fillds G Ay qr w A A

73. 'Z) going on a journey, entrusts his plate to the possession of 'A', the keeper of a
warchouse, till 'Z' shall return. ‘Then, 'A' carries the plate (o a goldsmith and sells it.
(1) 'A" has committed thelt
(2) 'A' has not committed thell
(3) 'A' lawlully sold the plate to the goldsmith
(4) Nonc of the above is truc ,
‘e’ U IET 9T O @ B, oIl We @ T H FHead H U Iy B, o1 aw
fr St aroe A om St f, ‘T e B OH G F ORI A omer ¥ of
Iq g9 T B
() ‘@ F =0 a8
(2) ‘@ 7 Iy TE F B
(3) ‘T T AR B FrEh w9 J grEn o D
4) S § ¥ B off @ @l 8

74. 'A', Soldier fires on a mob by the order of his supetior officer, in conformity with the
commands of the law. 'B' is killed duc to such firing. Is 'A’ guilty of murder ?
(1) Yes, he should have taken care Lo avoid any innocent person from being killed
(2) No, he is bound by law to do it
(3) Yes, as he has killed a person
(4) The superior officer is guilty

LBHJ-EE-2021/(Law Three Year)(SET-Y)/(D) - P.T.O.
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@, AfrF T AR s B Ry A, wrE H Rl B FGET s T
A =T B AW AAAD B Brer AR onr ¥ oA @ e HOA
g7 .

(1) &, 3@ 0 o H @@= @A AR o7 B fedr off Fret et @l e T
&

(2) e, g8 THT HA B I HT aGnr arex ¥
(3) &, FifF ITT Al I AX ST &
(4) aftss STy et @ -

75. 'A' obtains the consent of 'B' to enter into an agreement by an act amounting to criminal
intimidation under the Indian Penal Code. 'A’ brings a case against 'B' for performance
of agreement. -

(1) 'A' will succeed in the case

(2) 'A' may succeed in the case

(3) 'B' will succeed in the case

(4) 'B' will not succeed in the case

‘W ARG &8 diedl & d8d SATINUs THS & ORT & TH AUFEH a1 T
T H A9 HH B g G o geAfd ar<d ST 81 ‘Y AHS S e
% fog <Y & Raersd AT A g | 3 ‘

(1) ‘T’ AFe § d%ad Bl

(2) ‘T AHY H % o aedl §

(3) ‘Y’ AHT H "B BRI

4) <V’ Aame # 9wa T8 e . ‘ -

76. A remedy for all disease is called :

(1) Philanthropy .
- (2) Ontology

(3) Panacea
(4) None of the above.

77. NASA is a new word formed from the initial letters of other words. This is called :
(1) Acronym :
(2) Synonym
(3) Homophone
(4) None of the above
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78.

The distinctive, minimal sound unit of a language is called :

(1) Phoneme

- (2) Morpheme

79.

80.

81.

82.

83.

(3) Sememe
(4) Lexeme

25

A number of words in any language are onomatopoeic, i.e., these words :

(1) have divine source
(2) echo natural sounds
(3) can't be articulated
(4) None of the above

He walks in sleep. He is a :
(1) Cartographer

(2) Somnambulist

(3) Cannibal

(4) Photographer

Choose the correct spelling :
(1) Affidavit

(2) Affedavit

(3) Affidevit

(4) None of the above

What is the meaning of 'prima facie' ?
(1) After death

(2) An abstract

(3) At first right

(4) None of the above

The four basic language skills are :

(1) Listening, speaking, reading and writing

(2) Speaking, understanding, reading and writing
(3) Drawing, speaking, reading and writing

(4) None of the above
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- 84. There is a non-finite verb in the following sentence :

[ stayed up all night to finish my work. This 'non-finite' verb is :
(1) a gerund

(2) Present Participle

(3) Infinitive

(4) Past Participle

' 85. In the following sentence 'Alice became a successful writer', the verb 'became’ is :
(1) a Non-Finite verb

(2) aLinking verb
(3) a Complement
(4) None of the above

86. Choose the participle phrase in the following sentence :

‘The houses located on the flood plain suffered extensive damage.'
(1) The houses located on the flood plain
(2) Suffered '

(3) Extensive damage
(4) None of the above

87. Which of the following sentence is not grammatically correct ?
(1) The courtroom bailiff says, "All rise !"
(2) If you get the yeasf right, the dough will always rise
(3) The sun rises in the east
(4) None of the above

88. Choose the gerund phrase in the following sentence :

'Answering my e-mail always seems to take all morning.

(1) answering my e-mail

(2) always ‘ - 3 i
(3) seems to take : G .

(4) all morning

-."'l
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© 94,

89.

90.

91.

92.

93.

27

Time and tide ........... for nonc.
(1) wait

(2) waits

(3) are waiting

(4) None of the above |

Choosc the option having adverb clause :
(1) The problem is that our creek floods.
(2) Whenever it rains, our creek runs over.
(3) The creek that runs by our house floods.
(4) None of the above

'Uneasy lies the head that wears a crown.' In the above sentence 'that wears a crown' is :

(1) aNoun clause

(2) an Adverb clause
(3) an Adjective clause
(4) None of the above

'He stood his ground against his adversary.' In this sentence 'stood his ground' means :

(1) in the sccret

(2) maintained his position
(3) behaving arrogantly
(4) None of the above

Who broke the jug ? In this sentence 'the jug' is :
(1) a Subject Complement

(2) Direct Object

(3) Indirect Object

(4) Verb

A simple sentence has :

(1) One Finite Verb

(2) Two Finite Verbs

(3) Any number of Finite Verbs
(4) Three Finite Verbs

LBHJ-EE-2021/(Law Three Year)/(SET-Y)(D) P.T.O.
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95.

96.

97.

98.

99.

100.

LBHJ-EE-2021/(Law Three Year)/(SET-Y)/(D)

‘Search the pockets and you will find the watch.' Thisisa ............ scntence.
(1) Simple

(2) Complex

(3) Compound

(4) None of the above

He prayeth best .............. loveth best.
(1) whose ‘

(2) who

(3) whom

(4) None of the above

| the better before he
(1) had written, arrived

(2) has written, had arrived
(3) am writing, has arrived

(4) None of the above

The Nobel Pfize in Literature 2020 was awarded to ............... i
(1) Peter Handke

(2) Jean Paul Sartre

(3) Louise Gluck

(4) None of the above

Ivisited .............. school for Parent-Teacher Meet.

(1) a | -

(2) an .

(3) the

(4) None

The population of London is ............. any city in India.

(1) greater than

(2) less than

(3) greater than that of
(4) None of the above
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